BEARINGS

Staniforth References
CLASS PLAIN Z Y74 DDU N NR

C3 - - 608Z2Z 608DDU - -

C5 608 - - - - -

C3 - - 609Z2Z - - -

C3 - - 626ZZ - - -

C3 6000 - 6000ZZ 6000DDU - -

C3 6001 6001Z 6001ZZ 6001DDU - -

C3 6002 60022 6002Z2Z 6002DDU - -

C3 6003 6003Z 6003Z2Z 6003DDU - -

C3 6004 6004Z 6004Z2Z 6004DDU - -

C3 6005 6005Z 6005Z2Z 6005DDU - 6005NR

C3 6006 - 6006ZZ 6006DDU - -
NOT C3 - 6006Z - - - -

C3 6007 - 6007Z2Z 6007DDU - -

C4 - - 6007ZZC4 - - -

C3 6008 - - - - -

C3 - - - 6012DDU - -

C3 - - - 6022DDU - -
NOT C3 - - - 6028DDU - -
NOT C3 - - - 6032DDU - -

C3 6200 62002 6200Z2Z 6200DDU - -

C3 6201 6201Z 6201ZZ 6201DDU - -

C3 6202 6202Z 6202Z2Z 6202DDU - -

C3 6203 62032 6203Z2Z 6203DDU - 6203NR

C3 6204 6204Z 6204Z2Z 6204DDU 6204N 6204NR

C4 6204C4 - - - - -

C3 6205 62052 6205Z2Z 6205DDU 6205N 6205NR

C3 6206 - 6206ZZ 6206DDU 6206N 6206NR

C3 6207 - 6207Z2Z - - -

C3 6222 - - 6222DDU - -

C3 6228 - - 6228DDU - -

C3 6232 - - 6232DDU - -

C3 6300 6300Z 6300ZZ 6300DDU - -

C3 6301 6301Z 6301Z2Z 6301DDU - -

C3 6302 63022 6302Z2Z 6302DDU - -

C3 6303 63032 6303Z2Z 6303DDU - -

C3 6304 6304Z 6304Z2Z 6304DDU 6304N 6304NR

C3 6305 63052 6305Z2Z 6305DDU - 6305NR

C3 6306 6306Z 6306ZZ 6306DDU - 6306NR

C3 6307 - - 6307DDU - -

C3 6322 - - 6322DDU - -

C3 6328 - - 6328DDU - -

C3 6403 - - - -

C3 - - - 6901DDU - -

C3 - - - 6902DDU - -

C3 - - - 6903DDU - -
NOT C3 - - - 6904DDU - -

C3 6907 - - - - -
NOT C3 - - - 6907DDU - -

C3 6908 - - - - -
ENGINE BB1-3055B
ENGINE BB1-3096

KEY ——
PLAIN UN-SHIELDED
YA SINGLE METAL SHIELD
77 DOUBLE METAL SHIELD
DDU DOUBLE RUBBER SHIELD
N WITH CIRCLIP GROOVE m
NR WITH CIRCLIP GROOVE & CIRCLIP

To Order please use the bearing number,

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




FRONT WHEEL SPROCKET REAR WHEEL

MobDEL YEAR L/H & R/H CARRIER LEFT HAND RIGHT HAND
HONDA

C50 75-78 6300Z 62032 6301Z 63012
C502Z2 79-83 63002 62032 63012 63012
C50L (Single Seat) 80-85 63002 62032 63012 63012
C50 Cub 82-86 6300Z 62032 6301Z 63012
C50 LAC/LAE/LAG 82-89 6300Z 62032 6301Z 63012
C50E Super Cub 84-86 63002 62032 63012 6301Z
CB50J 78-81 6301Z None 6301Z 6301Z
CF50 Chaly 78-79 62012 None 6301Z 62012
MB50SA 80-82 63012 None 63012 63012
MBX50SD 83-86 6201Z None 63012 63012
MT50SA 80-83 6301Z None 6301Z 6301Z
MT50SF/SG/SJ 85-89 6301Z None 6301Z 63012
MT50SL 90-93 63012 None 63012 63012
MTX50SC 82-86 63012 None 63012 63012
NB5OME Aero 84-85 62002 None None None
NB50OMF Vision seXA 85-88 62002 None None None
NC50K1/Z Express 1 79-82 62002 None None None
NC50C Express 2 82-85 62002 None None None
NC50A/B Express 3 82-85 6200Z None None None
ND50 Melody Deluxe 81-85 62002 None None None
NE5SOMF Vision 85-90 62002 None None None
NP50D Mini Melody 6v 83-84 62002 None None None
NS50D-B Melody 81-85 62002 None None None
NT50F/G Mini Melody 85-86 62002 None None None
NT50H Mini Vision 87-92 62002 None None None
NU50M-C Runaway 82-85 62002 None None None
NV50MS-D Stream 83-86 6003 None None None
NX50B Caren 81-83 62002 None None None
PA50 Camino 78-82 62002 None None None
PA50 Camino 83-92 Cups+Cones None None None
PC50K1 79-82 62012 None 62012 62012
PX50 81-86 Cups+Cones None None None
PXR50E/F/G 85-87 Bushes None None None
SA50J Vision Met-in 88-92 62002 None None None
SA50M/P Vision Met-in 92-93 62002 None None None
SH50J/K/M/N City Express 84-93 6201Z None None None
SS50ZK (Drum Brake) 78-80 6300Z None 63012 63012
SS50ZB (Disc Brake) 78-80 63012 None 63012 63012
ST50K3 78 6301Z None 6301Z 63012
ST50J/K Dax 88-93 63012 None 63012 63012
C70 75-78 63002 62032 63012 63012
C702z/22 79-83 6300Z 62032 6301Z 63012
Cc70C 82-86 6300Z 62032 63012 63012
C70E Cub 84-86 63002 62032 63012 63012
CF70K2 77-81 6301Z None 6301Z 63012
CF70 Chaly 82-86 6301Z None 6301Z 6301Z
ST70K3 77-81 6301Z None 6301Z 63012
NF75 78-84 63002 None None None
MBX80FWD 83-86 6201Z None 63012 63012
MTX80RFD/RFF 83-86 6301Z None 6301Z 63012
NH80MDD/MDG Lead 83-86 6201Z None None None
NH80MDH Vision 87-92 6201Z None None None
C90 75-80 63012 62032 6301Z 6301Z
Cc90zz 79-84 6301Z 62032 6301Z 63012
c90C 83-85 63012 62032 6301Z 63012
C90E 84-86 63002 62032 63012 6301Z
C90G Cub 87-95 6300Z 62032 6301Z 6301Z
C90MF 85-86 6300Z 62032 6301Z 63012
C90MG E/Start 87-93 6300Z 62032 63012 63012
C90M-P 96- 63002 62032 63012 63012
CB100N/NA 78-87 6301Z None 63012 6101Z
H100A 80-83 6301Z 62032 6301Z 63012
H100SD 84-92 63012 62032 63012 63012
H100S2G/SJ 78-80 63012 None 6302Z 6202Z
XL100SZ/SA/SB 78-85 6301Z None 6302Z 6302Z
CA125 REBEL 96-99 6302DDU 6004DDU 6202DDU 6302DDU
CB125J 78-79 63012 None 63022 62022
CB125K1-K6 (Twin) 72-76 6302Z None 6301Z 6202Z
CB125RS 83-86 6301Z None 6302Z 6302Z
CB125S1/S2 75-79 63012 None 6301Z 6202Z
CB125T/T2/TB (Twin) 78-82 63012 None 63012 63012
CB125TDC/TDE S/Dream 82-87 6302Z None 6301Z 63012
CB125TDJ S/Dream 88-89 6302DDU None 6302DDU 6302DDU
CD125TC Benly (Twin) 82-85 6302Z 6005Z 6202Z 6302Z
CG125K1/KB/C 78-83 6301Z None 6302Z 6202Z
CG125E/F/J/K Brazil 84-93 6301Z None 6302Z 6202Z
CH125MD-MG/EG Spacy 83-87 6201Z None None None
CM125CC Custom (Twin) 82-86 6302Z None 6301Z 63012
CT125C 82-84 6301Z None 6302Z 6301Z
MBX125FE 84-86 6201Z None 6301Z 61022
MTX125RWD (Drum) 83-84 6202Z None 6302Z 62022

SALES TELEPHONE 0114 2462027
FAX 0114 2454232

BEARINGS




FRONT WHEEL SPROCKET REAR WHEEL

MobEL YEAR L/H & R/H CARRIER LEFT HAND RIGHT HAND
HONDA
MTX125RWF-RWL (Disc) 85-93 6202Z None 6302Z 6202Z
NH125MDD/MDG Lead 83-87 62012 None None None
NS125FG/FH 86-90 6201Z None 6301Z 6201Z
NS125RK/RL 88-93 6201Z None 6302Z 62022
NSR125RK/RL/RM/RN 90-94 6002Z None 6103Z 6003
NSR125RR 96- 6002DDU 6203DDU 6003DDU
m SL125K1A 76 6301Z None 6301Z 6301Z
w SL125KID 76-80 6301Z None 6301Z 6301Z
z TL125 78-79 6301Z None 6301Z 6301Z
— XL125K2 78 6301Z None 6301Z 6301Z
m XL125K3 79 6301Z None 6302Z 6302Z
< XL125SA/SB/SC 79-82 6301Z None 6302Z 63022
XL125RC (Drum) 82-84 6202Z None 6303Z 6103Z
Fﬂ XL125RF (Disc) 85-87 6202Z None 63032 6103Z
m CB175(Twin) (All Models) 74-76 6302Z None 6302Z 6301Z
CD175(Twin) (All Models) 71-78 6302Z None 6301Z 6301Z
CD185T (Twin) 78-82 6302Z 6005Z 6101Z 6301Z
XL185SZ/SA/SB 79-84 6301Z None 6301Z 6301Z
CB200B (Twin) 76-79 6302Z None 63032 63032
CD200TB Benly 79-86 6302Z 6005Z 6101Z 6301Z
CM200TA/TB 80-84 6302Z None 6302Z 63022
MTX200RWD 83-86 6202Z None 6302Z 62027
CB250N (Not S/Dream) 92-95 6302Z None 6301Z 6302Z
CB250G5 75 6302Z None 6304Z 63032
CB250K1-K4 73-75 6302Z None 6304Z 6303Z
CB250NA Super Dream 79-80 6302Z None 6304Z 63032
CB250NB/NDX-B S/Dream 81-85 6302Z None 6304Z 63032
CB250RSA 80-84 6302Z None 6304Z 6103Z
CB250RSD-C (E/Start) 82-84 6302Z None 63032 6103Z
CB250T Dream 78 6302Z None 6304Z 6303Z
CBX250RSE 84-86 6202Z None 63032 62032
CD250UJ/UK 88-93 6202Z None 6302Z 63022
CJ250T 77-79 6302Z None 6304Z 6303Z
CL250SC 82-84 6302DDU None 6303DDU 62032
CH250 Spacey 85-87 62012 None None 630322
CM250TB Custom 81-84 6302Z None 6304Z 6303Z
CMX250CT 96 6302DDU 6004DDU 6202DDU 6302DDU
CN250L/M/N 89-92 6201Z None None 6303
VT250FD 83-87 6302Z 6204DDU 6302Z 63022
XL250K3/4 Single Pipe 78-79 6302DDU None 6304DDU 6204DDU
XL250RC 82-84 6202DDU 6204DDU 6203DDU 6203DDU
XL250RE/RF/RG/RH 84-87 6202DDU None 6203DDU 6203DDU
XL250RL 90 6202DDU None 6203DDU 6203DDU
XL250SZ/SA 78-80 6202DDU None 6303DDU 6203DDU
XL250SB 81-83 6202DDU None 6303DDU 6203DDU
CB350K4 74 6302Z None 6304Z 63032
CB350SG 86-89 6302DDU 6204DDU 6303DDU 6203DDU
CB360G5 75 6302Z None 6304Z 6303Z
CJ360T 78 6302Z None 6304Z 6303Z
CB400A Hondamatic 78-81 6302Z None 6304Z 6303DDU
CB400F1/2 75-79 6302DDU None 6304DDU 6303DDU
CB400NA Super Dream 78-80 6302Z None 6304Z 6303Z
CB400NB Super Dream 81 6302Z None 6304Z 6303Z
CB400NC Super Dream 82-85 6302Z None 6304Z 63032
CB400T Dream 78-80 6302Z None 6304Z 6303DDU
NS400RF 85-88 6302DDU 6204DDU 6203DDU 6203DDU
VF400FD 83-86 6302Z 6204DDU 6303DDU 6303DDU
VFR400R3L/R3M 89-92 6004DDU None None None
CB450DX 89-92 6302Z 6204DDU 63032 63032
CB500K1/K2/F 71-73 6302Z 6305Z 6304DDU 6304DDU
CB500T (Twin) 75-77 6302Z None 6305DDU 6304DDU
CB500RR-RW 94-99 6302DDU 6204DDU 6303DDU 6303DDU
CX500Z/A/B 78-84 6302Z None 6302DDU 6302DDU
CX500CB Custom 81-84 6302Z None 6302DDU 6302DDU
CX500EC EuroSport 82-84 6302Z None 6303DDU 6303DDU
CX500TC Turbo 82-83 6302Z None 6303DDU 6303DDU
FT500C 82-85 6302Z2Z2 6204Z 6303DDU 6303DDU
GL500 Silver Wing 82-84 6302Z None 6302DDU 6302DDU
VF500F2E 84 6302DDU 6204DDU 6303DDU 6303DDU
VF500F2F 85-87 6302DDU 6204DDU 6303DDU 6303DDU
VT500ED/EF Eurosport 83-88 6302Z None 6303DDU 6203Z
XBR500F/G 85-86 6302DDU 6204Z 6303DDU 6203DDU
XBR500H 87-88 6302DDU 6204Z 6303DDU 6203DDU
XBR500SJ 89 6302DDU 6204Z 6303DDU 6203DDU
XL500SA 80 6202DDU None 6303DDU 6203DDU
XL500SB 81 6202DDU None 6303DDU 6203DDU
XL500RC 82-84 6202Z 6204Z 62032 62032
CB550K3/F1/2 77-80 6302Z 6305Z 6304Z 6304Z
CBX550FC/FD 82-87 6302Z 6204Z 63032 63032
CBX550F2C/F2D 82-87 6302Z 6204Z 63032 63032
CBR600FH/FJ 87-88 6004Z 6204DDU 6303DDU 6303DDU

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




FRONT WHEEL SPROCKET REAR WHEEL

MoODEL YEAR L/H & R/H CARRIER LEFT HAND RIGHT HAND

HONDA

CBR600FK/FL 89-90 60042 6204DDU 6303DDU 6303DDU
CBR600FM-FV 91-97 6004Z 6222 6204Z 6204Z
NTV600J/K/L/M 88-92 6004Z None None None

Transalp 600VH/VJ 87-88 6202DDU 6204Z 6203DDU 6203DDU

Transalp 600VK/VL 89-90 6202DDU 62042 6203DDU 6203DDU

Transalp 600VM/VN/VP 91-93 6202DDU 6204DDU 6203DDU 6203DDU
VT600CN/CP 92-96 6004DDU 6204DDU 6303Z 6303Z /)]
XL600RD 84-86 62022 62042 62032 62032 0
XL600LMF 85-86 6202DDU 6204DDU 6203Z 6203Z >
XL600VH-VW TRANSALP 87-99 6202DDU 6204DDU 6203DDU 6203DDU =i
CB650Z (S.0.H.C.) 78-81 6302DDU 6305DDU 6304DDU 6304DDU M
CB650SCC (S.0.H.C.) 82-84 6302DDU 6305DDU 6304DDU 6304DDU <
CB650SC (D.O.H.C.) 83-84 6302DDU 6305DDU 6304DDU 6304DDU =
CX650ED Eurosport 83-86 6302DDU None 6303DDU 6303DDU

CX650TC-D Turbo 83-86 6302DDU None 6303DDU 6303DDU m
GL650D2D Silver Wing 84-86 6302DDU None 6303DDU 6303DDU

NTV650M-T 92-96 6004DDU None None None

NX650J-P Dominator 88-99 6202Z 6204Z 6203DDU 6203DDU

CB750FA/FB (D.O.H.C.) 80-82 6302DDU 6305DDU 6304DDU 6304DDU
CB750FC/F2C (D.O.H.C.) 82-85 6302DDU 6305DDU 6304DDU 6304DDU
CB750FD/F2D (D.O.H.C.) 82-85 6302DDU 6305DDU 6304DDU 6404DDU

CB750FZ (D.O.H.C.) 79 6302DDU 6305DDU 6304DDU 6304DDU

CB750F/F1 (S.0.H.C.) 76-77 6302DDU 6305Z 6304Z 6304Z

CB750F2 (S.0.H.C.) 78 6302DDU 6305Z 6304Z 6304Z

CB750F2N-W RETRO 92-99 6004Z 6204DDU 6303DDU 6303DDU

CB750KZ (D.O.H.C.) 79-82 6302DDU 6305DDU 6304DDU 6304DDU

CB750K1/2 (S.0.H.C.) 70-72 6302Z 6305Z 6304Z 6304Z

CB750K3/4 (S.0.H.C.) 73-74 6302Z 6305Z 6304Z 6304Z

CB750K5 (S.0.H.C.) 75 63022 63052 6304Z 63042

CB750K6 (S.0.H.C.) 76-77 6302DDU 6305Z 6304Z 6304Z

CB750K7 (S.0.H.C.) 78 6302DDU 6305Z 6304Z 6304Z

CBX750FE 84-86 6302DDU 6305DDU 6204DDU 6304DDU
VF750CH/CJ Custom 87-89 6302DDU None 6204DDU 6204DDU

VF750FD 83-86 6302DDU 6305DDU 6304DDU 6304DDU

VF750SC Sports 82-84 6302DDU None 6303DDU 6303DDU

VFR750FG 86 6004DDU 6305DDU 6304DDU 6204DDU
VFR750FH/FJ/FL 87-89 6004DDU 6305DDU 6304DDU 6204DDU
VFR750FL/FM 90-91 6004DDU 6907 6908 None

VFR750FN/FP 92-93 6004DDU 6907 6908 None

VFR750FR-FV 94-97 6004DDU

VFR750RJ/RK/RL (RC30) 88-92 6004DDU None 6908 None

XRV750L-T A/TWIN 90-99 6203DDU 6204DDU 6303DDU 6203DDU

CB900FZ (D.O.H.C.) 79 6302DDU 6305DDU 6304DDU 6304DDU

CB900FA (D.O.H.C.) 80 6302DDU 6305DDU 6304DDU 6304DDU

CB900FB (D.0.H.C.) 81 6302DDU 6305DDU 6304DDU 6304DDU
CB900FC/F2C (D.O.H.C.) 82 6302DDU 6305DDU 6304DDU 6304DDU
CB900FD/F2D (D.O.H.C.) 83-86 6302DDU 6305DDU 6304DDU 6304DDU
CBR900RRN-RS Fireblade 92-95 6004Z 6222 6204DDU 6204DDU
CBR900RRT/V 96-97 6004Z 6322DDU 6204DDU 6204DDU

CB1000FP 93 60042 6305DDU 6304DDU 6304DDU

CB1000P-T BIG ONE 93-96 6004DDU 6305DDU 6304DDU 6304DDU
CBR1000FH/FJ 87-88 6004DDU 6305Z2Z 62042Z 63042Z
CBR1000FK-FT 89-96 6004Z2Z 6305Z2Z 6304Z2Z 63042Z

CBX1000Z/A Twin Shock 78-80 6302DDU 6305DDU 6304DDU 6304DDU
CBX1000B/C Mono Shock 81-84 6302DDU 6305DDU 6304DDU 6304DDU

GL1000KZ Gold Wing 75-80 6302Z None 6304Z 6204Z
VF1000FE/FF/F2F 84-88 6302DDU 6305DDU 62042 6304DDU

VTR1000F FIRESTORM 97-99 6004DDU 6322DDU 6204DDU 6204DDU
VF1000RE/RF 84-88 6302DDU 6305DDU 6205DDU 6204Z

CB1100RB-D 82-84 6302DDU 6305DDU 6304DDU 6304DDU

CBR1100XX BLACKBIRD 96-99 6004DDU 6305DDU 6304DDU 6304DDU

GL1100AD Gold Wing 83 6302DDU None 6304DDU 6204DDU
GL1100DXB/DXC G/Wing 81-84 6302DDU None 6304DDU 6204DDU
GL1100KA/B/C G/Wing 80-85 6302DDU None 6304DDU 6204DDU
CB1100RB/RC/RD 81-83 6302DDU 6305DDU 6304DDU 6304DDU

ST1100 Pan European 89-99 6004DDU None 6204DDU O.E.M.
GL1200AE/AF/AG/AH 84-88 6302DDU None 6304DDU 6204DDU
GL1200DE/DG G/Wing 84-87 6302DDU None 6304DDU 6204DDU
GL1500J/K/L/ISEM/SEN 88-82 6004Z None 6204DDU O.E.M.

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




FRONT WHEEL SPROCKET REAR WHEEL

MobEL YEAR L/H & R/H CARRIER LEFT HAND RIGHT HAND
HONDA (OFF ROAD)
CR50RD/RE/RF 83-85 6201Z None 6301Z 6201Z
QR50E/F/M 82-95 62002 None None None
TLMS5O0F 85 62012 None 6301Z 6201Z
Z50RZ/RA-RF 79-85 6201Z None 6201Z 6201Z
CR60RD/RE/RF/RG 83-86 6201Z None 6301Z 6201Z
ATC70 (All Models) 78-85 6202Z None 6006 6006
m XR75K4 75-79 6301Z None 6301Z 6301Z
w XR75K5 79 6301Z None 6301Z 6301Z
z CR80RA/RB/RC 80-82 6301Z None 6301Z 6301Z
= CR80RD 83 6201Z None 6301Z 6301Z
m CR80RE 84 6201Z None 6301Z 6201Z
< CR80RF 85 6201Z None 6301Z 6201Z
CR80R2F 85 6202Z None O.E.M.Only O.E.M.Only
Fﬂ CR80RG 86 6201Z None 6002Z 6202Z
m CR80R2G 86 6202Z None O.E.M.Only O.E.M.Only
CR80RH 87 6201Z None 6002Z 62022
CR80RJ 88 6201Z None 6002Z 6202Z
CR80RK 89 6201Z None 6002Z 6202Z
CR80RL 90 6201Z none 6002Z 62022
CR80RM 91 6201Z None 6002Z 6202Z
CR80RN-RT 92-96 6201Z None 6002Z 6202Z
XR80Z/A/B 79-81 6301Z None 6301Z 6301Z
XR80RJ/RH 88-92 6301Z None 6301Z 6301Z
EZ90M CUB 92 6201Z None 6201Z 6201Z
TRX90 94-95 6003DDUx2 None None None
ATC110 (All Models) 79-84 630227 None None None
ATC125 ME/MF 84-85 6302272 None None None
ATC125MG/MH 86-87 6302272 None None None
CR125M2/3/4 76-78 6301Z None 6302Z 6302Z
CR125RZ/RA 79-80 62022 None 62032 62032
CR125RB 81 6202Z None 62032 62032
CR125RC 82 6202Z None 6203Z 6203Z
CR125RD 83 62022 None 6004Z 6004Z
CR125RE 84 6202Z None 6004Z 6004Z
CR125RF 85 6003Z None 6004Z 6004Z
CR125RG 86 6003Z None 6004Z 6004Z
CR125RH 87 6003Z None 6204DDU 6004DDU
CR125RJ 88 6003Z None 6204DDU 6004DDU
CR125RK 89 6003Z None 6204DDU 6004DDU
CR125RL 90 6003Z None 6004DDU x2 6004DDU
CR125RM 91 6003Z None 6004DDU x2 6004DDU
CR125RN/RP 92-93 6003Z None 6004DDU x2 6004DDU
TRX125H/J 87-88 6003 x4 None None None
ATC185SZ/SA/SB/SC 79-82 6302Z None 6007Z 6007Z
ATC200B/ESE/ESF/SE 81-84 6302Z None 6007Z 6007Z
ATC200ED (Disc) 83 6302Z None 6007Z 6007Z
ATC200XD (Disc) 84 6302Z None 6007Z 6007Z
TL200J/Y 76-78 6301Z None 6302Z 6302Z
TLR200D/E 83-84 62012 None 63012 6201Z
TLR200G/H 85-86 6201Z None 6301Z 6201Z
XR200RA/RB/RC/RD/RE 80-84 6202Z None 6303Z 62032
ATC250RB 81 63022 None 60072 None
ATC250RC/RD 82-83 6302Z None 6007Z None
ATC250RF/RG 85-86 6302DDU None None None
ATC250ESF/ESG/ESH/ESJ 85-88 6302DDU None None None
CR250RZ 79 620272 None 6304Z 6204Z
CR250RA 80 6202Z None 6304Z 6204Z
CR250RB 81 6202Z None 6304Z 6204Z
CR250RC 82 6202Z None 6204Z 6004Z
CR250RD 83 6202Z None 6004Z 6004Z
CR250RE 84 6202Z None 6004Z 6004Z
CR250RF 85 6003Z None 6004Z 6004Z
CR250RG 86 6003Z None 6004Z x2 6004Z
CR250RH 87 6003Z None 6004DDU 6204DDU
CR250RJ 88 6003Z None 6004DDU 6204DDU
CR250RK 89 6003Z None 6004Z O.E.M.Only
CR250RL 90 6003Z None 6004DDU x2 6004DDU
CR250RM 91 6003Z None 6004DDU x2 6004DDU
CR250RN-RT 92-96 6003Z None 6004DDU x2 6004DDU
RTL250SF/SG/SH 85-87 6202Z None 6204Z 6203Z
TL250K1 79 6301Z None 6302Z 6302Z
TLM250RJ 89 62022 None 62042 62032
TLR250RF/RG/RH 85-87 6201Z None 6302Z 62022
TRX250F/G/H 85-87 6004DDU None 6228 6228
TRX250RG/RH/RJ/RK 86-89 6004DDU None None None
XR250SZ/SA 79-80 6201Z None 63032 6203Z
XR250RB 81 6202Z None 63032 62032
XR250RE 84 6202Z None 63032 62032
XR250RF 85 6202Z None 63032 62032
XR250RG/RH 86-87 62022 None 62042 62037
XR250RJ/RK/RL 88-91 6202Z None 6204Z 62032

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




FRONT WHEEL SPROCKET REAR WHEEL

MoODEL YEAR L/H & R/H CARRIER LEFT HAND RIGHT HAND
XR250RN/RP 92-93 6202Z None 6204Z 6203Z
TRX300FWJ - L/H 88-90 6202 None None None
TRX300FWJ - R/H 88-90 6004Z

TRX350G/H/J/K/L 86-92 None None None None
XR350RD 83 6202Z None 6303Z 6203Z
XR350RE 84 6202Z None 6303Z 6203Z
FL400R Pilot - L/H 89-90 6022 x2 None None None
FL400R Pilot - R/H 89-90 6004 x2

CR450RB 81 6202Z None 62042 63042
CR480RC 82 6202Z None 6004Z 6004Z
CR480RD 83 6202Z None 6004Z 6004Z
CR500RE 84 6202Z None 6004Z 6004Z
CR500RF 85 6003Z None 6004Z 6004Z
CR500RG 86 60032 None 6004Z 60042
CR500RH 87 6003Z None 620422 60042
CR500RJ 88 6003Z None 62042Z 6004Z
CR500RK 89 6003Z None 0.E.M.Only 6004Z
CR500RL 90 6003Z None 6004Z x2 6004Z
CR500RM 91 60032 None 6004Z x2 60042
CR500RN-RT 92-96 6003Z None 6004Z x2 6004Z
XR500SZ/SA 79-80 6202Z None 6303Z 6203Z
XR500RB 81 6202Z None 6303Z 6203Z
XR600RE/RF/RG/RH 84-87 6202Z None 6204Z 6203Z
XR600RJ/RK/RL 88-90 62022 None 62042 62032
XR600RM-RT 91-96 6202Z None 6204Z 6203Z
KAWASAKI

AE50/80A1/2/B1 - L/H 82-87 6301Z None 6301Z 63012
AE50/80A1/2/B1 - R/H 82-87 6201Z

AR50/80A1/C1-C10 - L/H 81-93 6301Z None 6301Z 6301Z
AR50/80A1/C1-C10 - R/H 81-93 6201Z

KC100C1-C4 - L/H 79-86 6300Z 62032 6201Z 6301Z
KC100C1-C4 - R/H 79-86 62002

KE100A7-A10/B1-B11 - L/H 78-93 6300Z 6203Z 6201Z 6301Z
KE100A7-A10/B1-B11 - R/H 78-93 6200Z

KH100A2-A4/G2-3 78-82 6301Z 6203Z 6201Z 6301Z
KH100G4-G8 (EX) 84-92 6301Z 62032 6201Z 63012
KM100A4/A5/A6 - L/H 78-82 6300Z None 6301Z 6301Z
KM100A4/A5/A6 - R/H 78-82 6200Z

AR125A1-A8/B1-B8 82-94 6201Z 6004Z 6202Z 6302Z
KDX125A1-A2/B1-B2 90-94 6202DDU None 6004DDU 6004DDU
KE125A4-A12 - L/H 76-88 6301Z 60042 6202Z 6202Z
KE125A4-A12 - R/H 76-88 6201Z

KH125A1-A4 - L/H 77-80 6301Z 6004Z 6202Z 6202Z
KH125A1-A4 - R/H 77-80 6201Z

KH125K1-K6 - L/H 82-93 6301Z 6004Z 6202Z 6302Z
KH125K1-K6 - R/H 82-93 6201Z

KH125L1 - L/H 83-86 6301Z 6004Z 6202Z 6202Z
KH125L1 - R/H 83-86 6201Z

KMX125A1-A7/B1-B7 - L/H 86-99 6202Z None 6302Z 6302Z
KMX125A1-A7/B1-B7 - R/H 86-99 6201Z

KE175B1-B4 - L/H 76-78 6301Z 6004Z 62022 6202Z
KE175B1-B4 - R/H 76-78 6201Z

KE175D1-D5 79-83 6301Z 6004Z 6202Z 6202Z
KMX200 - L/H 88-92 6203Z None 6302Z 6302Z
KMX200 - R/H 88-92 62022

Z200A1-6 77-83 62022 6004Z 6202Z 6302Z
250S1B 3 Cylinder 75 6203Z 6205Z 6303Z 6303Z
EL250D4-5 93-96 6302DDU 6205DDU N/A N/A
ER250B1/2/3 Scorpion 83-90 6202Z 6205Z 630322 630322
GPX250R (EX250F2/F3) 88-96 62022 62052 620322 630322
KH250 3 Cylinder 77-83 6203Z 6205Z 6303Z 6303Z
KL250A1-A2 - L/H 78-79 6302Z 6205Z 6303Z 6303Z
KL250A1-A2 - R/H 78-79 6302Z

KL250A3-A4/C1-C2 80-85 6301Z 6004Z 6202Z 6202Z
KLR250D2-11  L/H 84-96 6302Z 6004Z 6003Z 6003Z x2
KLR250D2-11 R/H 84-96 6202Z

KLX250D1-2 93-94 6202DDU N/A 6004DDU 6004DDU
KR1 (KR250B2) 89-90 6202DDU 6004DDU 6203DDU 6203DDU
KR1-S (KR250C2/3) 90-92 62032 6004DDU 6203DDU 6203DDU
Z250A1/2/3 Twin 78-81 6202Z 6205Z 6303Z 6303Z
Z250B1/2 Twin 80-83 6302Z 6205Z 6303Z 6303Z
Z250C1/2 Single 81-83 6302Z 6004Z 6202Z 6302Z
Z250G1/2 Single 80-84 6302Z 6004Z 6202Z 6302Z
ZZR250 (EX250H1/2) 90-93 62022 62052 6203DDU 6303DDU
GPZ305A1/B1/3/4/5/8 83-96 6202Z 6205Z 63032Z 63032Z
KH400A3/4/5 3 Cylinder 76-78 6203Z 6205Z 6303Z 6303Z

SALES TELEPHONE 0114 2462027
FAX 0114 2454232

BEARINGS




FRONT WHEEL SPROCKET REAR WHEEL

MoDEL YEAR L/H & R/H CARRIER LEFT HAND RIGHT HAND
Z400B1/2 78-79 62032 6205Z 63032 6303Z
Z400D3/4 75-76 63022 62052 63032 6303Z
Z400F (ZR400A1/B1) 83-85 63022 62052 62032 63032
Z400F2 (ZX400C2) 85-88 63022 62052 62032 6303Z
Z400G1 79-81 62022 62052 63032 6303Z
Z400J1 80 6302Z 6305Z 63032Z 63032Z
Z400J2/3 81-83 63022 6305Z 63032Z 63032Z

(7)) ZXR400L1-9 91-99 6004DDU 6205Z 620422 62042Z
(5 Z440A2/C1/C2 79-81 62022 62052 63032 6303Z
Z440D4/5/6 LTD 82-85 63022 62052 63032 6303Z
E EN450A1-5 85-90 63022 62052 630322 630322
m EN500A1/A3 90-93 63022 62052 63032Z 63032Z
EN500B1-2/C1-2 94-98 6302DDU 6205DDU N/A N/A
< GPZ500S (EX500A1-6) 87-93 62022 62052 63032Z 63032Z
€3] GPZ500S D1-6 94-99 6202DDU 6205DDU 6203DDU 6303DDU
m H1 D/E/F 3 Cylinder 73-75 62032 63052 63032 62052
KH500 3 Cylinder 76 63032 63052 63032 6205Z
KLE500A1-7 L/H 91-99 62032 6004Z 60032 6204Z
KLE500A1-7 R/H 91-99 62022
Z500B1/2 79-80 6302Z 62052 63032 6303Z
GPZ550D1 (Z550D) 81 63022 62052 63032Z 63032Z
GPZ550H (Z550H1/2) 82-84 63022 62052 63032Z 63032Z
GPZ550A (ZX550A1-4) 83-90 6302Z 62052 62032Z 63032Z
GT550G1-9 83-99 6302Z None 6303Z 63032
Z550A1/A2/3 80-83 63022 6305Z 63032Z 63032Z
Z550C1/2 LTD 80-83 63022 62052 63032Z 63032Z
Z550F (ZR550A1/2) 82-88 63022 62052 620322 630322
ZR550B2-6 ZEPHYR 91-97 63022 62052 63032Z 63032Z
GPX600R C1-7 88-94 63022 62052 63032Z 63032Z
GPZ600R (ZX600A1-5) 84-90 63022 62052 63032Z 63032Z
KLR600 (KL600A/B1-4) - L/H 84-90 62032 60042 60032 6003Z
KLR600 (KL600A/B1-4) - R/H 84-90 6202Z
ZL/EL600 ELIMINATOR 95-97 6004DDU 6205DDU 6204DDU 6204DDU
ZX6-R F1-3 95-97 6004DDU 6205DDU 6204DDU 6204DDU
ZZR600 (ZX600D1-3) 90-92 6203DDU 62052 630322 630322
ZZR600 E1-7 93-99 6004DDU 62052 62042Z 62042Z
KLR650 (KL650A1-3) - L/H 87-90 62032 60042 60032 6204Z
KLR650 (KL650A1-3) - R/H 87-90 62022
KLX650C1 93-96 6202DDU 6005DDU 0.E.M.Only 6004DDU
Tengai 650 (KL650B1-3) - L/H 89-92 62032 6004DDU 60032 6204DDU
Tengai 650 (KL650B1-3) - R/H 89-92 62022
Z650B1-3 77-81 62032 6305Z 63032 6303Z
Z650C1-C3 76-78 62032 62062 6205272 620522
7650D1-3 78-80 62032 62062 63032 6303Z
Z650F1 80 62032 63052 63032Z 63032Z
Z650F2/3/4 81-85 63022 62062 630322 630322
7650 (SR650) 80-82 62032 63052 63032 6303Z
GPX750R (ZX750F1-3) 87-91 63022 0.E.M.Only 6204DDU 6204DDU
GPZ750A (ZX750A1-5) 83-89 6302Z 62062 63032Z 63032Z
GPZ750 Turbo (ZX750E) 83-87 63022 62062 63032Z 63032Z
GPZ750R1 (Z750R1) 82 63022 62062 630322 630322
GPZ750R (ZX750G2/3) 84-88 6302Z 62062 63032Z 63032Z
GT750P1-10 82-98 63022 None 63032Z 6302Z
VN750A2/3/4/5 Twin 85-90 63022 None 630322 630322
Z750B1/2/D1 Twin 76-78 62032 62062 63042 6304Z
Z750E1 80 63022 62062 63032Z 63032Z
Z750H1/2 LTD 80-83 63022 62062 63032Z 63032Z
Z750L1-4 80-87 63022 62062 63032Z 63032Z
Z750Y1 LTD Twin 82 6302Z 6206Z 63032Z 63032Z
ZR750 ZEPHYR 92-97 6203DDU 62052 63032Z 63032Z
ZXR750H (ZX750H1/H2) 89-90 6204DDU 62052 6304DDU 6304DDU
ZXR750J/K (ZX750J1/J2/K1) 91-93 6005DDU 60062 62052 62052
ZXR750L (ZX750L1) 93 6005DDU 6006Z 62052 6205Z
ZXR750R (ZX750M1) 93 6005DDU 60062 62052 6205Z
ZX7-R/RR P1-4/N1 96-99 6005DDU 6006DDU 6205DDU 6205DDU
VN800A1-2 95-96 6302DDU 6205DDU 6303DDU 6303DDU
VN800 CLASSIC B1-4 96-99 6004DDU 6205DDU 6303DDU 6303DDU
GPZ900R (ZX900A1-6) 84-89 63022Z 62062 63032Z 63032Z
GPZ900R (ZX900A7-8) 90-93 63022Z 62062 63032Z 63032Z
Z1/Z1A/Z1B (900cc) 73-76 62032 62062 63042 6304Z
Z900A4 77 62032 62062 63042 6304Z
ZX9-R B1-4 94-97 6005DDU 6006DDU 6205DDU 6205DDU
GPZ1000RX (ZX1000A1-3) 85-89 63022 62062 63042Z 63042Z
GTR1000A1-9 86-95 63022 None 63042Z 63042Z
Z1000A1-4 78-82 6203Z 6206Z 6304Z 6304Z
Z1000D1 (Z1R) 78 62032 62062 63042 6304Z
Z1000H1/2 74-75 62032 62062 63042 6304Z
Z1000J1-3 81-85 63022 62062 630427 630422
Z1000K1 (LTD) 81-83 63022 62062 63042Z 63042Z
Z1000R2 83-84 63022 62062 63042Z 63042Z
Z1000ST (E1/2 Shaft) 78-81 620322 None 630427 630422
ZL1000A1 Eliminator 87-90 6302DDU None 63042Z 63042Z

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




FRONT WHEEL SPROCKET REAR WHEEL
MoODEL YEAR L/H & R/H CARRIER LEFT HAND RIGHT HAND
ZX10 (ZX1000B1-3) 88-91 6303Z2Z 6206Z2Z 6304Z2Z 63042Z
GPZ1100A1-3 83-88 63022 620622 630422 630427
GPZ1100B1-2 82-83 63022 6206Z 6304Z2Z 6304Z2Z
GPZ1100E1-2 95-98 6203DDU N/A 6304DDU 6304DDU
Z1100A1/2/3 Shaft 81-85 63022 None 6304Z2Z 63042Z
Z1100R1 84-86 6302Z 6206Z 630422 630422
ZR1100A1 ZEPHYR 92-94 6203DDU 6206Z N/A N/A
ZR1100 (ZX1100C1-3) 90-93 6204DDU 6206Z 6304Z 63042
ZZR1100D1-7 93-99 6005DDU 6206DDU 6304DDU 6304DDU
Z1300A1-5 79-83 63032 None 6304Z 63042
ZG1300A1/A3 84-90 6302Z None 63042 63042
VN1500B2 88-90 63022 None 6304Z2Z 63042Z
VN1500C1-1&CLASSIC 94-99 6302DDU N/A N/A N/A
KAWASAKI (OFF ROAD)
KX60A1-2/B1-9 - L/H 83-93 6200DDU None 6301DDU 6201DDU
KX60A1-2/B1-9 - R/H 83-93 6300DDU
KX80E1-3 - L/H 83-85 6300DDU None 6301DDU 6201DDU
KX80E1-3 - R/H 83-85 6200DDU
KX80G1/G2/J2 - L/IH 86-87 6301DDU None 6301DDU 6201DDU
KX80G1/G2/J2 - R/H 86-87 6201DDU
KX80L1-L3/R1-R3 - L/H 88-96 6301DDU None 6301DDU 6201DDU
KX80L1-L3/R1-R3 - R/H 88-96 6201DDU
KX100N1/A1-2 - L/H 88-90 6301DDU None 6301DDU 6201DDU
KX100N1/A1-2 - R/H 88-90 6201DDU
KX100B1-6 L/H 91-96 6301DDU None 6301DDU 6201DDU
KX100B1-6 R/H 91-96 6201DDU
KX125D1 85 62032 None 6004Z 0.E.M.Only
KX125E1 86 6203Z None 6004Z 60042
KX125E2 87 62032 None 6004Z 6004Z
KX125F1 88 6203Z None 6004Z 60042
KX125G1 89 62032 None 6004Z 60042
KX125H1 90 6203DDU None 6004DDU 6004DDU
KX125H2 91 6203DDU None 6004DDU 6004DDU
KX125J1 92 6203DDU None 6004DDU 6004DDU
KX125J2 93 O.E.M.Only None 6004DDU 6004DDU
KM125K1-3 94-96 0.E.M.Only None 6004DDU 6004DDU
KDX200C1-3 86-88 6202DDU None 6004DDU 6004DDU
KDX200E1-4 86-92 6202DDU None 6004DDU 6004DDU
KDX250D1-2 91-95 6202DDU None 6004DDU x2 6004DDUx2
KX250D1 85 6203Z None 6004Z 0.E.M.Only
KX250D2 86 6203Z None 6004Z 0.E.M.Only
KX250E1 87 6203Z None 6004Z 60042
KX250F1 88 62032 None 6004Z 6004Z
KX250G1 89 62032 None 6004Z 60042
KX250H1 90 6203DDU None 6004DDU 6004DDU
KX250H2 91 6203DDU None 6004DDU 6004DDU
KX250J1 92 6203DDU None 6004DDU 6004DDU
KX250J3 93 0.E.M.Only None 6004DDU 6004DDU
KX250K1-3 94-96 0.E.M.Only None 6004DDU 6004DDU
KX500B1 85 62032 None 6004Z 6004Z
KX500B2 86 62032 None 6004Z 60042
KX500C1 87 62032 None 60042 60042
KX500D1 88 62032 None 6004Z 60042
KX500E1 89 6203DDU None 6004DDU 6004DDU
KX500E2 90 6203DDU None 6004DDU 6004DDU
KX500E3 91 6203DDU None 6004DDU 6004DDU
KX500E4/E5 92-93 6203DDU None 6004DDU 6004DDU
KX500E7-8 95 6203DDU None 6004DDU 6004DDU

SALES TELEPHONE 0114 2462027
FAX 0114 2454232

BEARINGS




FRONT WHEEL SPROCKET REAR WHEEL

MobEL YEAR L/H & R/H CARRIER LEFT HAND RIGHT HAND
SUZUKI
A50 - L/H 71-76 6300Z 62032 62012 63012
A50 - R/H 71-76 62002
AES50 STYLE 90-93 6200Z None None None
AP50 75-78 6300DDU 62032 62012 6301Z
AH50 Address 92-93 62002 None None None
CL50DD Love 83-87 6200DDU None None None
7)) CP50 85-92 6200Z None None None
w CS50DD Roadie - L/H 81-88 6201Z None None None
z CS50DD Roadie - R/H 81-88 620272
= F50/FR50 - L/H 71-86 6300Z 62032 6201DDU 6201Z
m F50/FR50 - R/H 71-86 6200Z
< FS50T/X Snip 80-81 6200DDU None None None
FZ50N/X/Z Suzy 80-86 6200DDU None None None
m GT50KB/KEN - L/H 77-80 6300Z None 6301DDU 6301DDU
FQ GT50KB/KEN - R/H 77-80 6200Z
ORS50ET 80 6300Z 62032 63012 62012
TS50KC/KN - L/H 79 6300DDU 62032 63012 62012
TS50KC/KN - R/H 79 6200DDU
TS50ERKT/ERX-D - L/H 80-83 6300DDU None 6301Z 6301Z
TS50ERKT/ERX-D - R/H 80-83 6200DDU
TS50XKE-T 84-96 6200DDU 62032 62012 62012
ZR50KEN/KEXZAEXT’ 79-83 6300Z 6203Z 6301Z 62012
ZR50SLKX/SKX/SKE/SKH 82-90 6300Z 6203Z 6301Z 6201Z
FR70B - L/H 74-76 6300DDU 62032 62012 6301Z
FR70B - R/H 74-76 6200DDU
CP80 85-93 62002 None None None
CS80CD Roadie - L/H 83-87 62012 None None None
CS80CD Roadie - R/H 83-87 620272
FR80M/B/X/N/Z/D - L/H 76-87 6300Z 62032 6201Z 6301Z
FR80M/B/X/N/Z/D - R/H 76-87 6200DDU
A100K/L/M/A/B - L/H 74-80 6300DDU 62032 62012 6301Z
A100K/L/M/A/B - R/H 74-80 6200DDU
GP100 Spoke Drum 79-93 6300Z 62032 6201Z 6301Z
GP100 Spoke Disc 78-84 6300Z 62032 6301Z 6301Z
GP100 Cast Disc 78-84 6300DDU 62032 62012 6301Z
TS100K/L/M/A/B 73-77 6201DDU None 63022 6202Z
TS100C/ERN/ERT/ERX 78-84 6201DDU None 6302DDU 620272
TS100ERZ (F/Floater) 82-89 6201DDU None 6302DDU 6202Z
B120D 71-77 63012 62042 620272 6302Z
CS125 Roadie - L/H 83-87 62032 None None None
CS125 Roadie - R/H 83-87 6201Z
DR125SZ/SD/SE (Drum) 82-86 6201DDU None 62027 6302DDU
DR125SF/SH/SJ (Disc) 85-93 6201DDU None 620272 6302DDU
GP125 C/N/X/D 78-89 6300DDU 62042 620272 630227
GN125R 94-99 6301Z 6204Z 6202Z 6302Z
GS125Z/D (Drum) 82-87 6301Z 6204Z 6202Z 6302Z
GS125ESZ/ESD/ESF 82-89 63012 62042 620272 6302Z
GS125ESK/ESM 90-93 63012 62042 620272 6302Z
GT125L/M/A/B/C/EC/N/EN 74-81 6301DDU 62042 62022 6302Z
RG125UCG/UH/UJ/UJ2 85-92 6201DDU 6204Z 6202Z 6302Z
RG125UN/F-UN 92-94 62027 62052 62032 62032
TS125K 72 62012 None 6302DDU 6202DDU
TS125L/M 73-74 6301Z None 6302DDU 6202DDU
TS125A/B 75-77 63012 6204DDU 62027 6202Z
TS125ERT/ERX/C 78-84 6201DDU None 6302DDU 6202Z
TS125ERZ (F/Floater) 82-86 6201DDU None 6302DDU 62027
TS125N (F/Floater) 84-86 6201DDU None 6302DDU 6202Z
TS125L/M/N/P/R 90-96 620272 None 63032 62032
TS125XUE (Drum) 84-85 6201DDU None 6302DDU 6202DDU
TS125XUF/XUG/XUJ 86-90 6201DDU None 6302DDU 6202DDU
GT185L/M/A/B/C 75-79 6301DDU 6204DDU 6202DDU 6302DDU
TS185K 73 62012 6204DDU 6302DDU 6202Z
TS185L/M 74-75 63012 6204DDU 6302DDU 6202DDU
TS185B/C 76-78 6201DDU None 6201DDU 63022
TS185ERN/ERT/ERX 79-85 6201DDU None 6201DDU 6302Z
DR200SJ/SK/SL 88-91 62012 None 630272 6202Z
GT200EN/EX (X5) 79-82 6301DDU 62042 620272 6302Z
SB200EN/EX 79-83 6201DDU 6204Z 6202Z 63022
GN250F/J/IM/R/SIT 87-96 6302Z 62042 6202Z 6302Z
GS250TT/TX 80-85 6302DDU 6204DDU 620272 6302Z
GSX250ET/EX 80-84 6302DDU 6204DDU 62022 6302Z
GSX250EZ (Katana) 82-85 6302DDU 6204DDU 6202Z 63022
GT250K/L/M/A/B/C 73-78 6302DDU 6205Z 62032 63032
GT250EN/EX/EZ (X7) 78-83 6301DDU 6204DDU 620272 6302Z
RG250WD Gamma | 83 6301DDU 6204DDU 620227 62022z
RG250WE Gamma Il 84-85 6302DDU 6204DDU 620227 620227
RG250FG/FGH Gamma Il 86-88 6302DDU 6204DDU 6202727 620227
RGV250K-T 89-96 62032 62052 62042 6204Z
T250 - L/H 66-73 6202Z 6205Z 62032 63032
T250 - R/H 66-73 6002Z
TS250K/L/M/A - L/IH 73-76 62022 None 63022 6304DDU

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




FRONT WHEEL SPROCKET REAR WHEEL
MoODEL YEAR L/H & R/H CARRIER LEFT HAND RIGHT HAND
TS250K/L/M/A - R/H 73-76 6002Z
TS250B/C/ERN/ERT/ERX 79-83 6201DDU None 6302Z 6304DDU
TS250XE-XK 85-89 6201DDU None 6202Z 62022
DR350SL-X 90-99 6202Z 6205Z 6204Z 6204Z
T350 70-73 6202Z 6205Z 6203Z 6303Z
SP370C/N 77-80 6201DDU 6304DDU 6302Z 63022
GT380J (Drum) 72 6302DDU 6205Z 6203Z 6303Z
GT380K/L/M 73-75 6302DDU 62052 62032 63032
GT380A/B 76-77 6302DDU 6205Z 6203Z 6303Z
DR400ST/SX 79-82 6201DDU 6205Z 6303Z 6203Z
GN400TT 80-82 6302DDU 62052 62032 63032
GS400C/N 77-78 6302DDU 6205Z 6203Z 6303Z
GSF400M/P Bandit 91-94 6302DDU 6205Z 6303Z 6303Z
GSX400ET/EX/EZ (Twin) 80-85 6302DDU 6205Z 6203Z 63032
GSX400FX/FZ/FD (Four) 81-86 6302DDU 6205Z 6203Z 6303Z
GSX400T/TX (Twin) 81-85 6302DDU 6205Z 6203Z 63032
SP400T 80-82 6201DDU 6304DDU 6302Z 6302Z
GS425EN 79-80 6302DDU 6205Z 6203Z 6303Z
GS450ET/EG/EH/EJ 80-89 6302DDU 62052 62032 63032
GS500EK-X 89-99 6302DDU 6205Z 6303Z 6303Z
RE5M/A Rotary 75-77 6302DDU 6305DDU 6204Z 6304Z
RG500CH Gamma 85-89 6302DDU 6305Z 6203Z 62032
T500 - L/H 67-74 6202Z 6205Z 6303Z 6203Z
T500 - R/H 67-74 6002Z
GT500A/B 75-78 6302DDU 6205Z 6203Z 6303Z
GS550DB/DC 77-78 6302DDU 6305Z 6303Z 6303DDU
GS550EC/EN 78-79 6302DDU 63052 63032 6303DDU
GS550ET/EX/EZ 80-85 6302DDU 6305Z 6303Z 6303DDU
GS550LT/LX (Custom) 80-84 6302DDU 6305Z 6303Z 6303DDU
GS550MX/MZ (Katana) 81-84 6302DDU 6305Z 6303Z 6303DDU
GSX550EE/EFE/ESD-ESH 83-88 6302DDU 6205DDU 6203Z 6303Z
GT550K/L/M/A/B 73-77 6302DDU 6205Z 62032 6303Z
DR600SF Raider 84-86 6202DDU 6205Z 6203DDU 6203DDU
DR600RG Paris-Dakar 87 6202DDU 6205Z 6203DDU 6203DDU
GSF600F/S BANDIT 95-99 6203DDU 6205DDU 6204DDU 6204DDU
GSX600FJ 88 6303Z 6205Z 6203Z 6303Z
GSX600FK/FL/FM/FN/FP 89-93 6302Z 6205Z 6303Z 6303Z
GSXR600WV-X 97-99 6005DDU 6232DDU 6032DDU 6032DDU
RF600RP 93-98 6203Z 6205Z 6204Z 6204Z
VS600GL 96-98 6302DDU N/A 6303DDU 6203DDU
DR650RSEM/RSEN/RSEP 91-93 6202Z 6205Z 6303Z 6303Z
DR650SET 96 6003DDU 6205DDU 6204DDU 6204DDU
GS650GT/GTZ/GTD 81-86 6302DDU None 6303DDU 6303DDU
GS650GX/GZ Katana 81-84 6302DDU None 6303DDU 6303DDU
LS650FH/PJ-PM Savage 87-95 6302DDU 6305Z 6303DDU 6303DDU
XN85D Turbo (650cc) 83-86 6302DDU None 62042 6204DDU
DR750SJ Desert 88 6202Z 6205Z 6303Z 6303Z
DR750SK Desert 89-90 6202Z 6205Z 6303Z 6303Z
GS750B 76 6302DDU 6305Z 6204Z 6204DDU
GS750DB/DC/EC/EN 77-80 6302DDU 6305Z 6204Z 6204DDU
GSX750ET/EX 79-82 6302DDU 63052 62042 6204DDU
GSX750ESD/ESE/EFE/EFG 83-89 6302DDU 6305Z 6303Z 6303DDU
GSX750FK 89 6302Z 6205Z 6303Z 6303Z
GSX750FL-FT 89-96 63022 62052 63032 63032
GSX750SE Katana 85-87 6302Z 6305DDU 6303Z 6303Z
GSXR750F/G/H 85-88 6302DDU 6305Z 6004Z 6004DDU
GSXR750J/K Slingshot 88-89 6204DDU 6205Z 6204DDU 6204DDU
GSXR750L/M Slingshot 90-91 6204DDU 6205Z 6204DDU 6204DDU
GSXR750WN-WS 92-95 6204DDU 6205Z 6204DDU 6204DDU
GSXR750WT-WX 96-99 6005DDU 6205DDU 6204DDU 6204DDU
GSXR750RK (RR750) 89-91 6204DDU 6205Z 6204DDU 6204DDU
GT750A/B 76-77 6302DDU 6305DDU 62042 63042
GT750K/L/M 73-75 6302DDU 6305DDU 6204Z 6304Z
VS750GL/PH/PL/PK/PM 85-92 6302DDU None 6303Z 6203DDU
DR800SL DR-BIG 90 6202Z 6205Z 6303Z 63032
DR800SM DR-BIG 91 6202Z 6205Z 6303Z 6303Z
VS800GLN/P/R/S/T 92-96 6302Z None 6303Z 6203Z
VX800L/M/P 90-93 6302Z None 6303Z 6303Z
GS850GN 79 6302DDU None 6303Z 6303DDU
GS850GT/GX/GZ/GE/GG 80-89 6302DDU None 63032 6303DDU
RF900RR 94-99 6204DDU N/A 6204DDU 6204DDU
GS1000HC 78 6302DDU 6305Z 6204Z 6204DDU
GS1000EC/EN/SN 78-79 6302DDU 6305Z 6204Z 6204DDU
GS1000ET 80-84 6302DDU 6305Z 6204Z 6204DDU
GS1000GT/GX Shaft 80-83 6302DDU None 63032 6303DDU
GSX1000SZ/SD Katana 81-84 6302DDU 6305Z 62042Z 6204DDU
TL1000S /R 97-99 6005DDU 6232DDU 6032DDU 6032DDU
GS1100G 82 63022 None 63032 63032
GSX1100EF/EG 85-88 6203DDU 6305Z 62042Z 6204DDU
GSX1100EFE/EFF/EFG 84-88 6203DDU 6305Z 620422 6204DDU
GSX1100ESD 83-85 6203DDU 63052 62042 6204DDU
GSX1100ET/EX/EZ 79-84 6302DDU 6305Z 62042Z 6204DDU

SALES TELEPHONE 0114 2462027
FAX 0114 2454232

BEARINGS




BEARINGS

FRONT WHEEL SPROCKET REAR WHEEL

MobEL YEAR L/H & R/H CARRIER LEFT HAND RIGHT HAND
GSX1100FJ-FN - L/H 87-96 O.E.M.Only 62052 6204DDU 6204DDU
GSX1100FJ-FN - R/H 87-96 6303DDU

GSX1100GN 92-93 62032 None 6204DDU 6204DDU
GSX1100SZ/SD Katana 81-85 62032 63052 62042 6204Z
GSXR1100G/H 86-88 63022 6305Z 6004Z x2 6004Z x2
GSXR1100J 89 6303DDU 62052 6204DDU 6204DDU
GSXR1100K/L/M/N 89-92 62042 62052 6204DDU 6204DDU
GSX1100WP-T 93-96 62042 62052 620427 6204DDU
GSF1200 BANDIT 96-99 6204DDU 6205DDU 6204DDU 6204DDU
VS1400 INTRUDER 87-99 6302DDU None 6303DDU 6303DDU
SUZUKI (OFF ROAD)

JR50K 89 60002 None 60002 6000Z
LT50F/G/H/J/K/L/IM 84-90 6002Z x4 None O.E.M.Only O.E.M.Only
RB50H - L/H 87 62002 62032 62012 6301Z
RB50H - R/H 87 60002

RM50C/N/T/X/Z - LIH 78-82 63002 None 63012 63012
RM50C/N/T/X/Z - RIH 78-82 62002

RM60N/T/X/Z/D - L/H 79-83 6300Z None 6301Z 6301Z
RM60ON/T/X/Z/D - R/H 79-83 62002

RMB80B/C/N - L/H 77-79 63002 None 63012 6301Z
RMB80B/C/N - R/H 77-79 62002

RM80T/X/Z - L/IH 80-82 6300Z None 6301Z x2 6301Z
RM80T/X/Z - RIH 80-82 62002

RM80HD/HE 83-84 62022 None 62022 6002Z
RM80HF 85 62022 None 62022 60027
RM80XD 83 62002 None 6301Z 6201Z
RM80OXE 84 62002 None 62022 60022
RM80XF 85 62002 None 6202Z 6002Z
RM80XG 86 62002 None 62022 6002Z
RM80XH 87 62002 None 62022 6002Z
RM80XJ 88 62002 None 62022 60022
RM80XK 89 62012 None 62022 60022
RM80XL 90 62012 None 62022 6002Z
RM80XM 91 62012 None 62022 6002Z
RMB80OR/S 94-95 62012 None 62022 60022
RM80XN/XP 92-93 62012 None 62022 60022
RM100A/B/C 76-78 6201Z None 62022 63022
RM100N/T/X 79-81 62012 None 62022 62027
LT125D 83 6203Z x4 None 60072 6007Z
LT125E/F 84-85 6203Z x4 None 60072 6007Z
LT125H 87 6203Z x4 None 6007Z 6007Z
RM125M/A 75-76 63012 None 62022 63022
RM125B 77 62012 None 62022 63022
RM125C 78 62012 None 63022 62027
RM125N 79 6201Z None 63022 62027
RM125T 80 62012 None 63022 62022
RM125X/Z 81-82 62027 None 62022 62022
RM125D/E 83-84 62022 None 62022 62027
RM125F/G 85-86 62022 None 62022 62027
RM125H 87 60032 None 62022 62022
RM125J/K/L/M 88-91 60032 None 6204Z 6204Z
RM125N/P/R/S 91-95 60032 None 6004Z 6004Z
LT160EK/EL 89-90 6203Z x4 None 6007Z 6007Z
PE175C/N 78-79 62012 None 63022 62022
PE175T/X 80-81 6201Z 62042 6302Z 63022
PE175Z 82 620272 62042 63022 63022
LT185EK/EL 89-91 6203Z x4 None 6007Z 6007Z
DR200SJ/SK/SL 88-91 62012 None 63022 62022
LT230EL - Inner 90-92 62042 None 6009 None
LT230EL - Outer 90-92 62022

LT230GEF/GEG - Inner 85-86 62042 None 6009 None
LT230GEF/GEG - Outer 85-86 62022

LT-F230G/H - Inner 86-87 62042 None 6009 None
LT-F230G/H - Outer 86-87 62022

LT250EFF/EFG 85-86 6006Z None None None
LT250RF 85 6006Z None None None
LT250RG/RH 86-87 6006Z None None None
LT250RJ/RK/RL 88-91 6006Z None None None
LT250K/L 89-91 6006Z None None None
LT-F4WD 250 H/J/K 87-89 6006Z None None None
LT-F4WD 250 L/M 90-92 6006Z None None None
PE250B/C 77-78 62012 None 62032 62032
PE250N 79 62012 None 62032 62032
PE250T/X/Z 80-82 6201Z 6005Z 62032 62032
RL250 - L/H 74-76 62022 None 63022 6304DDU
RL250 - R/H 74-76 6002z

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




FRONT WHEEL SPROCKET REAR WHEEL

MobDEL YEAR L/H & R/H CARRIER LEFT HAND RIGHT HAND

RM250T 80 6201Z None 6202Z 62027

RM250X 81 6202Z None 6202Z 6202Z

RM250Z 82 62022 None 62022 62022

RM250D 83 6202Z None 6202Z 6202Z

RM250E 84 6202Z None 63032 62032

RM250F 85 6202Z None 63032 62032

RM250G 86 62022 None 63032 62032

RM250H 87 6003Z None 62042 62042 w
RM250J 88 6003Z None 6204Z 62042 0
RM250K 89 6003Z None 6204Z 62042

RM250L 90 60032 None 62042 62042 Z
RM250M 91 6003Z None 6204Z 62042 -
RM250N/P/R/S 92-95 6003Z None 6004Z 6004Z M
RMX250K 89 60032 None 62042 6204Z <
RMX250L 90 6003Z None 6204Z 6204Z [ﬂ
RMX250M/N/P 91-93 60032 None 62042 62042 m
RL325 - L/H 74-76 6202Z None 6302Z 62032

RL325 - R/H 74-76 6002Z

DR350M (Enduro) 91-92 6202Z None 6004Z 6004Z

PE400T/X/Z 79-82 62012 6005Z 62032 62032

RM400C 78 6201Z None 62032 62032

RM400N 79 62012 None 62032 62032

RM400T 80 6201Z None 6203Z 62032

RN465X/Z 81-82 6202Z None 6202Z x2 6202Z

RM500D 83 6202Z None 6302Z x2 6202Z x2

RM500E 84 62022 None 62032 62032

YAMAHA

CA50M Salient 83-84 62002 None None None

CA50M DL Salient 84-87 6200Z None None None

CG50 Jog 88-92 62002 None None None

CW50T BW’'S 90-93 6300Z None None None

CY50 Jog-in 90-93 62002 None None None

DT50M 78-80 6300Z None 63012 63012

DT50MX 81-86 6301Z None 6301Z 63012

DT50MX 87-94 63012 None 63012 63012

FS1E (Drum) 74-76 6202Z 6004Z 6301Z 63012

FS1EDX (Disc) 76-79 6301Z 6004Z 6301Z 63012

FS1DX (Disc) 79-81 6301Z None 6301Z 63012

FS1SE (Chopper) 81-82 63002 None 63012 63012

FS1 87-92 6300Z None 63012 63012

LC50M Bop 80 62002 None None None

MA50M (QT50) 80-84 6200Z None None None

MJ50M Towny 82-83 6200Z None None None

MS50 85-87 62002 None None None

QT50T 86-93 62002 None None None

RD50M (Spoke Wheel) 78 6301Z None 6301Z 63012

RD50M (Cast Wheel) 79-80 6301Z None 6301Z 6301Z

RD50MX 81-89 6301Z None 63012 63012

SA50M/ME Passola 80-81 62002 None None None

T50 Townmate 86-89 6300Z None None 63012

TY50M 77-80 6300Z None 63012 63012

V50M/P 74-82 6300Z 6004Z 6202Z 62027

V50M DL 83 6300Z 6004Z 6301Z 63012

YES50 Zest 93 6300Z None None None

V70A 76 6300Z 6004Z 6202Z 6202Z

V75A 77 6300Z 6004Z 6202Z 6202Z

CV80 Beluga 82-86 6300Z None None None

DT80MX 81-83 63012 None 63012 63012

DT80MX 1I/S 84-87 6301Z None 6301Z 63012

LB2/80 Bop 2 81-86 6300Z None 63012 63012

RD80MX 82-86 6301Z None 6301Z 63012

RD80LC 82-85 63012 None 63012 63012

T80 Townmate 83-96 6300Z None 63012 63012

V80 79-82 6300Z 6004Z 6301Z 6301Z

V80DL 83-87 6300Z 6004Z 6301Z 63012

V90 78 63002 6004Z 6202Z 62022
DT100A/B/C/D/E/F 76-85 6301Z 6004Z 6202Z 6202Z

RS100 (Drum) 75-80 6301Z 6004Z 6301Z 63012

RS100 (Disc) 77-80 63012 6004Z 6301Z 63012

RXS100 83-96 6301Z 6004Z 6301Z 6301Z

YB100 78-81 6301Z 6004Z 63012 63012

YB100 82-92 6301Z 6004Z 6301Z 6301Z

BL125 Beluga - L/H 85-87 6301Z None None None

BL125 BelLuga - R/H 85-87 6201Z

DT125E 78 6301Z None 63022 620272

DT125MX 79-83 6301Z None 6302Z 62022

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




FRONT WHEEL SPROCKET REAR WHEEL

MoDEL YEAR L/H & R/H CARRIER LEFT HAND RIGHT HAND
DT125LC Mk1 (Drum) 82-86 6301Z None 6302Z 6202Z
DT125LC Mk2 (Disc) 85 6202Z None 6302Z 6202Z
DT125LC Mk3 (Disc) 86-89 6202Z None 63022 6202Z
DT125R (3DB) 88-99 6202Z None 6004Z 6004Z
DT125R (3MB) 88-99 6202Z None 6004Z 6004Z
DT125RL 91-92 6202Z None 60042 6004Z
RD125DX (Spoke Wheel) 75-77 630227 None 62042Z 6302Z2Z

(7)) RD125DX (Cast Wheel) 78-81 630222 None 62042Z 630222
w RD125LC Mk1 82-86 6301Z None 6302Z 6202Z
RD125LC Mk2 85-86 6301Z None 6302Z 6202Z
E RD125LC Mk3 (RDZ125) 87-88 6301Z None 63022 6202Z
m RS125 (Drum) 75 6301Z 6004Z 6202Z 6202Z
RS125DX (Disc) 76-80 6202Z 6004Z 6202Z 6202Z
< RS125DX (Disc) 81 6202Z 6004Z 6202Z 6202Z
€3] SR125SE/Custom 82-93 6301Z None 6302Z 6202Z
m SR125 93-94 6301DDU N/A 6302DDU 6202DDU
SR125SE 96 6302DDU N/A 6302DDU 6202DDU
TDR125R 93-94 6302Z None 6203DDU 6203DDU
TZR125L 87-93 6301Z None 63022 6202Z
TZR125R 93-95 6301Z 6204Z 6202Z 6202Z
XC125 92-93 63012 None None None
XT125 82-86 6301Z None 6202Z 6202Z
DT175A/B/C/E/MX 74-86 6301Z None 6302Z 6202Z
RD200 (Spoke Wheel) 75-78 6302Z 6204Z 6202Z 6202Z
RD200DX (Cast Wheel) 74-84 6302Z2Z None 62042Z 6302Z2Z
RS200 79-85 6202Z 6204Z 6202Z 6202Z
DT250 75-76 6202Z None 6203Z x2 6203Z
DT250MX 77-82 6202Z None 6203Z x2 6203Z
RD250A/B 74-75 6303Z 6205Z 6303Z 63032
RD250C 76 6303Z 6205Z 6303Z 6303Z
RD250D 77 6303Z None 6304Z 6303Z
RD250E/F 78-79 6303Z None 6304Z 63032
RD250LC 80-86 6301Z None 6304Z 6302ZZ
SR250 93-94 6202Z 6204Z 6203Z 6203Z
SR250SE 80-84 62022 62042 62032 62032
TDR250 88-92 6202Z 6204Z 6202Z 6202Z
TZR250 87-91 6301Z 6204Z 6202Z 6202Z
XS250C (Disc) 78 630227 None 63042 6302272
XS250D/E 79-80 6302Z2Z None 6304Z 6302Z2Z
XS250SE/SF 79-81 630222 None 6304Z 630222
XS250C (Drum) 81 6302Z None 6304Z 6303Z2Z
XT250 80-83 6202Z 6204Z 6203Z 6203Z
XV250S 96-99 6202 6304DDU 6202DDU 6303DDU
RD350A/B 73-75 6303Z 6205Z 6303Z 6303Z
RD350LC 80-82 6301Z 6304Z 6204DDU 63022Z
RD350R 93 63012 63042 6302272 6302272
RD350 YPVS 83-86 6301Z 6304Z 6302Z2Z 6302Z2Z
RD350F YPVS 85-91 6301Z 6304Z 630222 63022Z
RD350N YPVS 85-87 63012 63042 63022Z 63022Z
XT350 85-93 6202Z 6204Z 6203Z 6203DDU
XS360B 75 630227 None 63042 6302272
XS360C 76 6302Z2Z None 6304Z 6302Z2Z
DT400 75-76 6202Z None 6203Z x2 62032
DT400MX 77-82 6202Z None 6203Z x2 6203Z
FZR400RR 92-94 6203DDU 6205DDU N/A N/A
FZR400RRSP 91-94 6203Z 6205Z 6004Z 6204Z
RD400C/D 76-77 63032 None 6304Z 6303Z
RD400E/F 78-79 6303Z None 6304Z 6303Z
XS400C (S.0.H.C.) 78 630227 None 6304DDU 630322
XS400D (S.0.H.C.) 79 6302Z2Z None 6304DDU 6303Z2Z
XS400SE (S.0.H.C.) 80-81 63022Z None 6304DDU 63032Z
XS400 (D.O.H.C.) 82-85 63022 63042 6203DDU 63032
RD500LC 84-87 6302Z 63224 6203Z 6303Z
SR500 78-83 6303DUU None 6203DDU x2 6203DDU
XS500B 75-77 63032 None 6305Z 6304Z
XS500C 78-81 6303Z None 6305Z 6304Z
XT500 77-83 6202Z None 6203DDU x2 6203DDU
XV535 VIRAGO 88-99 63032Z None 6302Z 6302Z2Z
XJ550 81-85 6302Z 6304Z 6203DDU 63032
XZ550 82-86 63022 None 6203Z x2 63032
XT550 82-84 6202Z 6304Z 6203DDU 6203DDU
FZ600 87-89 6302Z 6304DDU 6203DDU 63032Z
FZR600 Genesis 89-93 63022 6322DDU 6203Z x2 6303Z
FZR600R 94-95 6203DDU 6206DDU 6204DDU 6204DDU
SRX600 86-89 6302Z 6304DDU 6203DDU 63032
XJ600 91-98 6302Z 6304DDU 6203Z 6303Z
XJB600S Diversion 91-98 6203Z 6322DDU 6203Z x2 6303DDU
XT600 84-89 62022 6304DDU 62032 6203DDU
XT600E 90-99 6202Z 6304DDU 6203Z 6203DDU
XT600Z Tenere 84-86 6202Z 6304DDU 6203Z 6203DDU
XT6B00ZE Tenere 87-93 62022 6304DDU 62032 6203DDU
YZF600R THUNDERCAT 96-99 6203DDU 6206DDU 6204DDU 6204DDU

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




FRONT WHEEL SPROCKET REAR WHEEL

MoODEL YEAR L/H & R/H CARRIER LEFT HAND RIGHT HAND

XJ650 80-85 6302Z None 6203DDU x2 6303Z

XJ650 Turbo 82-85 6302Z None 6203DDU x2 6303Z

XS650 75 6303Z None 6305Z 6304Z

XS650 77-81 6303Z None 6305Z 6304Z

XS650SE 79-80 6303Z None 6305Z 6304Z

XS650SE 81 6303Z None 6305Z 6304Z

XTZ660 Tenere 91-96 6202Z 6304DDU 6203DDU 6203DDU

FZ750 85-88 6302Z 6322DDU 6203Z x2 6303Z (7))
FZ750 89-92 6302Z 6322DDU 6203Z x2 6303Z 0
FZR750RT Genesis 87 6302Z 6322DDU 6203Z x2 6303Z

FZR750R (OWO01) 89-92 6004DDU 63052 60042 60052 Z
FZX750 Fazer 87-89 63022 6322DDU 6203Z x2 6303Z E
XJ750 82-84 6302Z2Z None 6203Z x2 6303Z

XS750 77-79 630322 None 6204DDU x2 6304Z <
XS750SE 79-82 6303Z2Z None 6204DDU x2 6304Z €3]
XTZ750Super Tenere 89-94 6302Z 6322DDU 6203DDU x2 63032Z [aa]
XV750SE 81-83 6302Z None 6203DDU x2 6303Z

XV750 92-95 6302Z None 6203DDU x2 6303Z

XV750 VIRAGO 96-97 6302DDU 6203DDU 6203DDU 6303DDU
YZF750R/SP 93 6004DDU 6206Z 6205Z 6205Z

YZF750R/SP 94-97 6022DDU 6206DDU 6205DDU 6205DDU

TDM850 91-99 630322 6322DDU 6203DDU x2 630322

TRX850 96-99 6203DDU 6206DDU 6204DDU 6204DDU

XS850 80-86 6302Z2Z None 6204DDU x2 6304Z

XJ900 83-84 6302Z None 6203Z 6303Z

XJ900F 85-94 6302Z None 6203Z 6303Z

XJ900S DIVERSION 95-99 6203DDU 6004DDU 6203DDUx2 6303DDU

FZR1000 Genesis 87-88 6302Z 6305Z 6303Z 63032Z

FZR1000R EXUP 89-91 6203DDU 6305Z 6304DDU 6304DDU

FZR1000RU EXUP 92-93 6203DDU 6305Z 6304DDU 6304DDU

FZR1000 EXUP 94-95 6022DDU 6305DDU 6304DDU 6304DDU

GTS1000A 93-96 None 6305Z 6304Z 6304Z

TR1 (XV1000) 81-86 6302Z None 6204DDU 6304DDU

YZF1000R THUNDERACE 96-99 6004DDU 6206DDU 6205DDU 6205DDU

XV1000 Virago 86-89 6302Z None 6203Z x2 6303Z

XS1100 78-80 6303Z None 0.E.M.Only 6304Z

XS1100S 81-85 6303Z None 0.E.M.Only 6304Z

XV1100 Virago 89-94 63022 None 6203DDU x2 63032

XV1100 Virago 96-97 6302Z 6203DDU 6203DDU 6303Z

FJ1100 84-86 6302Z 6305Z2Z 63042Z 63042Z

FJ1200 86-87 6302Z 6305Z 6304Z 6304DDU

FJ1200 88-93 63022 63052 63042 6304DDU

FJ1200 ABS 91-93 6302Z 6305Z 6304Z 63042Z

XJR1200 95-98 6203DDU 6305DDU 6304DDU 6304DDU

XV1200TD Venture 85-86 63032 None None 630422

XZ\V1200TD VENTURE 85 6303Z 63042Z

VMX1200 (V-MAX) 86-99 6303Z None 6304DDU 6304DDU

XZV1300A ROYAL STAR 96-98 6004DDU N/A N/A 6304DDU

YAMAHA (OFF ROAD)

PW50 (4X4/36E) 80-93 6200Z None None None
YSR50T/W 87-89 6200Z None 6301Z 6301Z
YZ50G/H (3RO) 80-81 6200Z None 6301Z 6301Z
YZ50J/K (5X7) 82-83 6200Z None 6301Z 6301Z
YF60S (1HN) 87-90 6002DDU x4 None 6005Z 6005Z
YT60 Tri-Zinger 84-85 6001DDU None None 6005 x2
PWB8O0K/N/S/T/U (21W) 83-92 6200DDU 6004Z 6301Z 6301DDU
TY80 (450) 77 6200Z None 6301Z 6301Z
TY80 83-90 6200Z None 6301Z 6301Z
YFM80S (55X) 87-92 T.B.A. None T.B.A T.B.A
YZ80D (1TO) 77 6001Z None 6301Z 6301Z
YZB8O0E (2J5) 78 6001Z None 6301Z 6301Z
YZ8O0F (2X6) 79 6001Z None 6301Z 6301Z
YZ80G (3R1) 80 6001DDU None 6301Z 6301Z
YZ80H (4V1) 81 6001DDU None 6301DDU 6301DDU
YZ80J (5X2) 82 6001DDU None 6302Z 6302Z
YZ80K (22W) 83 6001DDU None 6302DDU 6302DDU
YZ80L (43K/39K) 84 6001DDU None 6301Z 6001DDUx2
YZ80ON (58T) 85 6001DDU None 6301Z 6001DDUx2
YZ80S (1LR) 86 6001DDU None 6301Z 6001DDUx2
YZ80T (2HF) 87 6001DDU None 63012 6001DDUx2
YZ80U (2YE) 88 6001DDU None 6301Z 6001DDUx2
YZ80V (3MK1/3MM1) 89 6001DDU None 6301Z 6001DDUx2
YZ80A (3MK2/3MM2) 90 6001DDU None 6301Z 6001DDUx2
YZ80B/D 91-92 6001DDU None 6301Z 6001DDUx2
YZ80E (4ES) 93 6201Z None 6202DDU 6002DDU
YZ80 94-95 6201DDU None 6202DDU 6002DDU

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




FRONT WHEEL SPROCKET REAR WHEEL

MoDEL YEAR L/H & R/H CARRIER LEFT HAND RIGHT HAND
YZ100E (2K5) 78 63012 None 63022 6202Z
YZ100F (2W5) 79 63012 None 63022 6202Z
YZ100G/H (3R2) 80-81 63012 None 63022 62022
YZ100J/K (5X3) 82-83 63012 None 63022 6202Z
YZ100L 84 63012 None 63022 6202Z
IT125G/H/J (3R9) 80-82 63012 None 63022 6202Z
TY125 82 63012 None 63022 6202Z

(7)) YZ125C (537) 76 6202DDU None 6302Z 6202Z
(5 YZ125D (1W1) 77 6202DDU None 63022 6202Z
YZ125E (2K6) 78 6202DDU None 63022 6202Z
E YZ125F (2X3) 79 6202DDU None 6202Z 62022
m YZ125G (3R3) 80 6202DDU None 63022 6202Z
YZ125H (4V2) 81 6202DDU None 63022 6202Z
< YZ125J (5X4) 82 6202DDU None 6203DDU 6203DDUx2
€3] YZ125K (24X) 83 6202DDU None 6203DDU 6203DDUx2
m YZ125L (43M) 84 6202DDU None 6203DDU 6203DDUx2
YZ125N (55Y) 85 6202DDU None 6203DDU 6203DDUx2
YZ125S (1LX) 86 62022 None 6004Z x2 6004Z
YZ125T (2HG) 87 6202Z None 6004Z x2 6004Z
YZ125U (2VN) 88 62022 None 6004Z x2 6004Z
YZ125V (3JD1) 89 62022 None 6004Z x2 6004Z
YZ125A/B/D 90-92 6202Z None 6004Z x2 6004Z
YZ125E (4EX) 93 6003DDU None 6004Z x2 6004Z
YZ125F 94-95 6003DDU None 6004Zx2 6004Z
YZ125 96 6003DDU None 6004Zx2 6004Z
IT175G/H (3R6) 80-81 6202DDU None 62022 6302Z
IT175J (5X8) 82 6202DDU None 6202Z 6302Z
TY175 (525) 77-80 63012 None 63022 6202Z
IT200L/N (43G) 84-85 6202DDU None 62032 6203DDUx2
YFM200N/DX (24W) - L/H 85-88 6003 None 6008 0.E.M.Only
YFM200N/DX (24W) - R/H 85-88 6203
YFM200DXW (3GC1) - L/H 89 6003 None 6008 0.E.M.Only
YFM200DXW (3GC1) - R/H 89 6203
YFM225S/T/U (1NV) 86-88 6203DDU None 6008 0.E.M.Only
IT250G (3R7) 80 6202DDU None 6203DDU x2 6203DDUx2
IT250H/J (4V5) 81-82 6202DDU None 6004Z x2 6004Z x2
TY250D/E (493) 77-78 63012 None 63022 6202Z
TY250H 81 6301Z None 63022 6202Z
TY250S/R (44J) 84-92 6202DDU None 63022 6202Z
TY250R 91-92 6202DDU None 63022 6202Z
TYZ250R (4GG) 93 6202DDU None 63022 6202Z
WR250D/E 91-93 6003DDU None 6004Z x2 6004Z
YZ250D (1W3) 77 6202DDU None 6203DDU x2 6203DDUx2
YZ250E (2K7) 78 6202DDU None 6203DDU x2 6203DDUx2
YZ250F (2X4) 79 6202DDU None 6203DDU x2 6203DDUx2
YZ250G (3R4) 80 6202DDU None 6203DDU x2 6203DDU
YZ250H (4V3) 81 6202DDU None 6004Z x2 6004Z x2
YZ250J (5X5) 82 6202DDU None 6004Z x2 6004Z
YZ250K (24Y) 83 6202DDU None 6004Z x2 6004Z
YZ250L (43N) 84 6202DDU None 6004Z x2 6004Z x2
YZ250N (56A) 85 6202DDU None 6004Z x2 6004Z x2
YZ250S (1LU) 86 6202DDU None 6004Z x2 6004Z x2
YZ250T (2HH) 87 6202DDU None 6004Z x2 6004Z x2
YZ250U (2VM) 88 6202DDU None 6004Z x2 6004Z
YZ250V (3JE1) 89 6202DDU None 6004Z x2 6004Z
YZ250A (3PS2) 90 6202DDU None 6004Z x2 6004Z
YZ250B (3XK) 91 6202DDU None 6004Z x2 6004Z
YZ250D (4DA) 92 60032 None 6004Z x2 6004Z
YZ250E (4EW) 93 6003DDU None 6004Z x2 6004Z
YZ250 94-95 6003DDU None 60042 6004Z
YZ250WRW 89 6202DDU None 60042 6004Z
YZ250WRA (3RB2) 90 6202DDU None 60042 6004Z
YZ400D (1W4) 77 6202DDU None 6203DDU x2 6203DDUx2
YZ400E (2K8) 78 6202DDU None 6203DDU x2 6203DDUx2
YZ400F (2X5) 79 6202DDU None 6203DDU x2 6203DDUx2
IT425G (3R8) 80 6202DDU None 6203DDU x2 6203DDUx2
IT425H/J 81-82 6202DDU None 6203DDU x2 6203DDUx2
IT465H/J (4V6) 81-82 6202DDU None 6004Z x2 6004Z x2
YZ465G (3R5) 80 6202DDU None 6203DDU x2 6203DDUx2
YZ465H (4V4) 81 6202DDU None 6004Z x2 6004Z x2
IT490L (26A) 84 6202DDU None 6004Z x2 6004Z x2
YZ490H 81 6202DDU None 6004Z x2 6004Z x2
YZ490J (5X6) 82 6202DDU None 6004Z x2 6004Z x2
YZ490K (23X) 83 6202DDU None 6004Z x2 6004Z x2
YZ490L (40T) 84 6202DDU None 6004Z x2 6004Z x2
YZ490N (57H) 85 6202DDU None 6004Z x2 6004Z x2
YZ490S (1LV) 86 6202DDU None 6004Z x2 6004Z x2
YZ490T (2HJ) 87 6202DDU None 6004Z x2 6004Z x2
YZ490U (2WH) 88 6202DDU None 6004Z x2 6004Z x2
IT500G/H 80-81 6202DDU None 6004Z x2 6004Z x2
WR500D/E (4AA) 92-93 6202DDU None 6004Z x2 6004Z
TT600 83 6202DDU None 60042 6004Z

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




LOOSE BALL BEARINGS

DESCRIPTION

1/4" Ball Bearings (10 pkts of 20) | CBRG14
1/8" Ball Bearings (24 pkts per crd) | CBRG18
3/16" Ball Bearings (10 pkts of 20) | CBRG316
5/32" Ball Bearings (10 pkts of 20) | CBRG532
7/32" Ball Bearings (24 pkts per crd) | CBRG732

SALES TELEPHONE 0114 2462027
FAX 0114 2454232

BEARINGS




BEARINGS

MoDEL YEAR L/H R/H MoDEL YEAR L/H R/H
HONDA CB 175K 74-76 N/A 6305
C50/Z72Z LAC-G 75-89 6304 6304 CD 175 71-78 N/A 6305
C 50 CUB 82-86 6304 6304 ATC 185 79-82 6328 6328
CB50J 78-80 6304 6304 CD 185 T BENLY 78-82 6305 6305
CR 50 RD-RF 83-85 6222 6222 XL 185 S 79-84 6328 6328
MB 50 80-82 6222 6204 ATC 200 81-84 6328 6328
MBX 50 SD 83-86 6205 6205 CB 200 76-79 N/A 6305
MT 50 SA/F/G/J/L 80-93 6222 6204 CD 200 T BENLY 79-86 6305 6305
MTX 50 82-86 6222 6204 CM200T 80-84 6305 6305
NB 50 ME / MF 84-88 N/A 6203 MTX 200 R 83-86 6228 6322
NC 50 EXPRESS 79-85 6004 6004 TL 200 76-78 6328 6328
ND 50 MELODY 81-85 6004 6004 TLR 200 D-H 83-86 6328 6328
NE 50 VISION 85-90 N/A 6203 TRX 200 94-95 6328 6328
NP 50 MINI MELODY 83-84 6004 6004 XR 200 RA-RE 80-84 6328 6328
NS 50 DB MELODY 81-85 6004 6004 TLM 220 RJ 88 6328 6328
NT 50 MINI MEL / VIS 85-92 N/A 6203 ATC 250 RB - RG 81-86 6328 6328
NU 50 RUNAWAY 82-85 6004 6004 CB 250 N (two fifty) 92-96 6305 6305
NV 50 STREAM 83-86 6004 6004 CB250RSA/D 80-84 6306 6306NR
NX 50 CAREN 81-83 6004 6004 CR250RZ/RA-RT 79-96 6328 6328
PA 50 CAMINO 78-92 6004 6004 CRM 250 RK - RM 89-91 6328 6328
PC 50 79-82 6202 6203 CD 250 U 88-94 6305 6305
PF 50 75-78 6202 6203 CJ250T 77-79 6328 6306
PX /PXR 50 81-87 6004 6004 CL 250 82-84 6306 6306
QR 50 82-95 6004 6004 CMX 250 96-ON 6305 6305
SA 50 MET-IN 88-95 N/A 6203 TL 250 79 6306 6306
SH50 CITY EXPRESS 84-96 6004 6005 TLM 250 89 6328 6328
SS 50 (ALL) 78-80 6304 6304 TLR250 F - H 85-87 6328 6328
ST 50 DAX (monkey) 88-93 6304 6304 TRX 250 RG -RK 86-89 6328 6328
TLM 50 F 85-ON 6205 6205 XL 250 K 78-79 6306 6306
Z50R 79-85 6304 6304 XL 250 RC 82-84 6306 6306NR
CR 60 RD-RG 83-86 6222 6222 XL 250 RE-RL 84-90 6328 6328
ATC 70 78-85 6304 6304 XL 250 S 78-83 6306 6306
CcC70/z7zZ]2z2 75-82 6304 6304 XR 250 SZ/ SA 79-80 6328 6328
Cc70C/CuB 82-86 6304 6304 XR 250 RB - RT 81-96 6328 6328
CF 70 CHALY 77-86 6304 6304 XR 350 RD / RE 83-84 6328 6328
ST70 77-81 6304 6304 CR 450 RB - RD 81-83 6328 6328
NF 75 78-84 6004 6004 CB500T 75-77 6306 6306
XR 75 75-79 6304 6304 CR 500 RE - RT 85-96 6328 6328
CR80R 80-96 6322 6322 FT 500 C 82-85 6307 N/A
MBX / MTX 80 83-86 6205 6205 XR 500 SZ/ SA 79-80 6307 6307
NH 80 LEAD/VISION 83-96 6005 6005 XR 500 RB 81 6307 6307
XR 80 79-93 6304 6304 XR 600 RE - RT 84-96 N/A 6307
CcC90/zz 75-84 6305 6305

coo C/cuB 84-96 6304 6304 KAWASAKI

TRX 90 94-95 6304 6304 AE 50 82-86 6304 6304
CB 100 N 78-87 6328 6328 AR 50 81-96 6304 6304
H100A/S 80-93 6228 6228 KX 60 A1-2/B1-12 83-96 6304 6304
XL 100 SZ/ SA/ SB 78-85 6322 6322 AE 80 81-87 6304 6304
ATC 110 79-84 6305 6305 AR 80 81-92 6304 6304
ATC 125 84-87 6305 6305 KX 80 E2-3 / G1-2 84-87 6304 6304
CA 125 REBEL 95-96 6305 6305 KX 80 J2/L1-3 87-90 6304 6304
CB125J 78-79 6328 6328 KX 80 R1-6 91-96 6304 6304
CB 125 RS 83-86 6328 6328 KC100C1-4 79-86 6204 6204
CB 125 T/TDC 78-89 6305 6305 KE 100 A7-10/B1-15 78-96 6204 6204
CD 125 T BENLY 82-85 6305 6305 KH 100 A2-4/G2-8 81-92 6204 6204
CG 125K 78-83 6328 6328 KM 100 A4-6 78-82 6204 6204
CG 125 BRAZIL 84-96 6328 6328 KX 100 N1/A1-2/B1-6 88-96 6304 6304
CH 125 SPACY 83-87 6328 6328 AR 125 A1-8 / B1-8 82-93 6205 6305
CM 125 82-86 6305 6305 KDX 125 A1-2 / B1-2 90-94 6205 6305
CR 125 M 76-78 6305 6322 KE 125 A4-12 76-88 6204 6304
CR125 RZ 79 6304 6304 KH 125 A1-4 77-80 6204 6304
CR 125 RA-RT 80-96 6322 6322 KH 125 K1-9 83-96 6204 6204
CT125C 82-84 6328 6328 KH 125 L 83-86 6204 6304
MBX / MTX 125 84-94 6228 6322 KMX 125 A1-7 / B1-8 86-96 6205 6305
NH 125 LEAD 83-87 6205 6205 KX 125 C1/D1/E1-2 84-87 6305 6322
NS 125F /R 86-93 6228 6322 KX 125 F1/G1/H1-2 88-91 6322 6322
NSR125F /R 92-96 6305 6322 KX 125 J1-2/K1-3 92-96 6322 6322
SL 125 76-78 6328 6328 KE 175 B1-4 / D1-5 76-83 6205 6305
TL 125 78-79 6328 6328 KDX 200 A1-3/C1-3 84-88 6305 6305
TRX 125 87-88 6328 6328 KDX 200 E1-4 86-92 6305 6305
XL125K/S 78-82 6328 6328 KMX 200 88-92 6205 6305
XL125 R 82-87 6328 6328 KLF 220 A1-6 88-96 6304 6304

SALES TELEPHONE 0114 2462027

FAX 0114 2454232




MoDEL YEAR L/H R/H MoDEL YEAR L/H R/H
Z 200 A1-6 77-83 N/A 6306 TS 125 RL-RT 90-96 6305 6305
ER 250 B1-3 83-90 6305 6305NR TS 125 X 84-90 6205 6322
KDX 250 B1-3 79-84 6305 6305 LT 160 E 89-90 6207 6328
KDX 250 D1-2 91-95 6328 6328 LT-F 160 L-S 90-95 6207 6328
KL 250 A1-4 78-82 N/A 6306 PE 175 C/N/T/X/Z 78-82 6304 6322
KL 250 C1-2 83-85 6306 6306 LT 185 E 89-91 6207 6328
KLR 250 D2-11 84-96 6306 6306 TS 185 K/L/M/B/C 73-78 6205 6322
KX 250 A4-7/B1-2 78-82 6305 6305 TS 185 ER 79-85 6205 6322 /)]
KX 250 C1-2 / D1-2 83-86 6305 6305 DR 200 SJ-L 88-91 6207 6328 (5
KX 250 E1/F1/G1/H1 87-90 6328 6328 GN 250 87-96 6207 6306 Z
KX 250 H2/J1-2/K1-3 91-96 6328 6328 LT230 EL/GEF-G 85-92 6207 6328 (]
Z 250 A1-3/B1-2 81-83 6305 6305NR LT-F 230G/H 86-87 6207 6328 M
Z 250 C1-2/ G1-2 81-84 N/A 6306 LT 250 EFF-G 85-86 6207 6328 <
GPZ 305 A1/B1-10 83-96 6305 6305NR LT 250 EFF-G 85-86 6207 6328 3]
KX 500 A1-2/B1-2/C1 83-87 6306 6306 LT 250 RF-H 85-87 6206 6305 m
KX 500 D1 /E1-8 88-96 6306 6306 LT 250 RJ-RR 88-95 6305 6305
LT 250 K/L 89-91 6207 6328
SUZUKI LT-FAWD 250 H-S 87-95 6207 6328
AE 50 STYLE 90-96 6204 6204 PE 250 B/C/N/T/X/Z 77-82 6305 6305
AH 50 ADDRESS 92-95 6204 6204 RGV 250 K-T 89-96 6305NR 6305
AP 50 75-78 6204 6304 RL 250 74-76 6305 6305
CL50 LOVE 83-87 6204 6204 RM250N /T 79-80 6305 6305
CP 50 85-92 6004 6004 RM 250 X 81 6206 6206
CS 50 ROADIE 82-88 6204 6204 RM 250 Z/D/E/FIG/H 82-87 6206 6305
FR 50 74-86 6204 6303 RM 250 J 88 6206 6305
FS 50 SNIP 80-81 6204 6204 RM 250 K/L/M/N/P/R 89-94 6305 6305
FZ 50 SUzY 80-86 6204 6204 RM 250 S 95 6305 6305
GT 50 K 77-80 6204 6204NR RMX 250 K/L/M/N/P 89-93 6328 6305
JR 50 K 89 6203 6203 RMX 250 R/S 94-95 6328 6305
LT 50 F-M 84-95 6203 6203 TS 250 K/L/M/A/BIC 73-78 6306 6305
OR 50 CHOPPER 80 6204 6204NR TS 250 ERN/Y/X 79-83 6306 6305
RM 50 C/N/T/X/Z 78-82 6204 6204NR TS 250 XE=K 85-89 N/A 6206
TS 50 K 79 6204 6204NR DR 350 91-96 6207 6306
TS50ER/ X 80-96 6204 6204NR LT -F 300 J/K 88-90 6305 6305
ZR 50 X1 79-84 6204 6204NR RL 325 74-76 6305 6305
RM 60 N/T/X/Z/D 79-83 6204 6204NR SP 370 77-80 6306 6306
FR 70 74-76 6204 6304 DR 400 79-82 6306 6306
CP 80 85-93 6204 6204 GN400TT 80-82 6306 6306
CS 80 ROADIE 83-87 6204 6204 PE 400 T/zZ/X 79-82 6207 6306
DS 80 N 92-93 6204 6204NR RM 400 C/N/T 78-80 6306 6306
LT 80 H-M 87-95 6204 6204NR SP 400 80-82 6306 6306
FR 80 76-87 6204 6304 RM 465 X/ Z 6207 6306
RM 80 B/C/N/T/X/Z 77-82 6204 6204NR RM 500D /E 83-84 6207 6306
RM 80 HD-F / XD-F 83-85 6204 6204NR
RM 80 XG-P 86-93 6304 6304 YAMAHA
RM80R/S 94-95 6304 6304 CA 50 SALIENT 83-87 6204 6204
A 100 74-80 6204 6304 CG 50 JOG 88-93 6204 6204
GP 100 78-93 6205 6304 CW 50 B-WIzZ 90-95 6204 6204
RM 100 A 76 6205 6304 CY 50 JOG-IN 90-96 6204 6204
RM 100 B/C/N/T/X 77-81 6205 6322 DT 50 M/ MX 78-95 6204 6204
TS 100 K/L/M/A/B 73-77 6204 6204 FS1E /DX /FS1 /DX 74-92 6204 6303
TS 100 C ERN/T/X 78-84 6305 6304 LC 50 BOP 80- 6203 6203
TS 100 ERZ 82-89 6205 6304 MA 50 QT50 80-84 6203 6203
CS 125 ROADIE 83-87 6207 6305 MJ 50 TOWNY 82-83 6203 6203
DR 125 SZ/D/E/F/HIJ 82-93 6207 6328 MS 50 85-87 6203 6203
GN 125 94-96 6207 6328 PW 50 80-96 6203 6203
GP 125 78-89 6205 6304 RD 50 M / MX 78-89 6204 6204
GS 125 82-95 6207 6328 SA 50 PASSOLA 80-86 6203 6203
LT 125 D-H 83-87 6207 6328 T 50 TOWNMATE 86-89 N/A 6304
RG 125 UCG/UH/UJ 85-92 6305 6305 TY 50 M 77-80 6204 6204
RG 125 UN 92-94 6328 6305 V 50 74-83 6204 6204
RG 125 F-UN/P/R 92-95 6328 6305 YSR 50 87-89 6204 6204
RM 125 M 75 6205 6304 YZ 50 G/H/J/IK 80-83 6204 6204
RM 125 A/B/C/N/T/X 76-81 6205 6322 ZE 50 ZEST 93-95 6204 6204
RM 125 Z/D/E/F/G/H82-87 82-87 6205 6322 YF 60 S 87-90 6203 6203
RM 125 J 88 6205 6322 YT 60 TRI-ZINGER 84-85 6203 6203
RM 125 K/L/M/N/P 89-93 6322 6322 V70/75 76-77 6204 6204
RM 125 R/S 94-95 6322 6322 CV 80 BELUGA 82-86 6204 6204
TS 125 K/IL/IM/A/B 72-77 6305 6304 DT 80 MX 81-87 6204 6204
TS 125 C / ERT/ERX 78-84 6305 6304 LB2 80 BOP 81-86 6204 6204
TS 125 ERZ 82-86 6205 6304 PW 80 83-96 6205 6205
TS 125N 84-86 6305 6304 RD 80 MX / LC 82-86 6204 6204

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




MoDEL YEAR L/H R/H MoDEL YEAR L/H R/H
T 80 TOWNMATE 83-96 N/A 6304 YZ 250 94-95 6328 6328
TY 80 77-90 6205 6204 YZ 250 WRW / WRA 89-90 6328 6328
V 80 79-87 6205 6205 YTZ 250 N/S TRI-Z 85-86 6206 6206
YFM 80 87-92 6204 6204 XT 350 85-95 6306 6306
YZ 80 D/E/FIG/H/J 77-82 6204 6204 DT 400 / MX 75-82 6306 6306
YZ 80 K/L/N/S/T/U 82-88 6204 6204 YZ 400 D/E/F 77-79 6306 6306
YZ 80 V/A/B/D/ 89-93 6204 6304 IT 425 G/H/J 80-82 6306 6306
7)) YZ 80 94-95 6204 6304 IT 465 H/J 81-82 6306 6306
(5 YZ 80 LWF 94-95 6204 6204 YZ 465 G/H 80-81 6306 6306
2 V 90 78-ON 6205 6205 IT490 L 84- 6306 6306
i DT 100 76-85 6304 6304 YZ 490 H/J/K/ILIN/S 81-86 6306 6306
m RS 100 75-80 6304 6304 YZ 490 T/U 87-88 6306 6306
< RT 100 94-96 6304 6304 IT 500 G/H 80-81 6306 6306
€3] RXS 100 83-96 6205 6304 SR 500 78-83 6306 6307
22} YB 100 78-92 6304 6304 XT 500 77-83 6306 6307
YZ 100 E/F/IG/H/JIK 78-83 6205 6304 XT 550 82-84 6306 6307
YZ 100 L 82-83 6205 6304 SRX 500 86-89 N/A 6307
BL 125 BELUGA 85-87 6205 6205 WR 500 D/E 92-93 6306 6306
DT 125 E / MX 78-83 6205 6304 TT 600 83- N/A 6307
DT 125 LC MK1/2/3 82-89 6205 6304 XT 600 84-89 6206 6307
IT 125 G/H/J 80-82 6205 6304 XT 600 E 90-96 6206 6307
RD 125 DX 75-82 6304 6304 XT 600 Z TENERE 84-92 6206 6307
RD 125 LC MK1/2/3 82-88 6205 6304
RS 125 75-81 6205 6304 TOMOS
SR 125 82-96 6305 6306 TOMOS 6203 6203
TY 125 82-ON 6205 6304
XT 125 82-86 6305 6306 PUCH
YZ 125 C/D/E/F 76-79 6205 6304 MAXI 6203 6203
YZ 125 G/H/J/K/L/N 80-85 6304 6205
YZ 125 S/T/U/V/A/B 86-91 6322 6322 PEUGEOT
YZ 125 D/E/F 91-96 6322 6322 Buxy 50/M/RM BB13055B BB13055B
DT 175/ MX 74-86 6205 6304 Elyseo 50 BB13055B BB13055B
IT 175 G/H/J 80-82 6304 6205 Speedake 50/M BB13055B BB13055B
TY 175 77-80 6205 6304 Speedfight 50/M/MP BB13055B BB13055B
IT 200 84-85 6205 6205 Speedfight 50/N/NP/NPGP BB13055B BB13055B
RD 200 DX 74-84 6205 6305 Speedfight 50/LND/LNDP BB13055B BB13055B
RS 200 79-85 6205 6305 Speedfight 50LC/LCD/LCDP/LCT BB13055B BB13055B
YFM 200 85-88 6305 6306 Speedfight 50GP BB13055B BB13055B
YEM 200 89 6305 6305 Squab 50 BB13055B BB13055B
YFM 225 86-88 6305 6305 Squab 50J (Elite) BB13055B BB13055B
DT 250 / MX 75-82 6206 6206 Trekker 50/P/R/RP BB13055B BB13055B
IT 250 G/H/J 80-82 6206 6206 Trekker 50/SB/SB2/SB2P BB13055B BB13055B
SR 250 93-95 6305 6306 Trekker 50/UB/UBP BB13055B BB13055B
TY 250 D/E/H 77-81 6206 6206 Vivacity 50/P/SL/SLP BB13055B BB13055B
TY250S /R 84-95 6206 6206 Zenith 50/L/M/LM/N/LN BB13055B BB13055B
TY 250 Z 93-95 6305 6305 Zenith 50LS (Sport) BB13055B BB13055B
WR 250 Z 91-95 6328 6328 Elyseo 100 BB13096 BB13096
XT 250 80-83 6305 6306 Speedfight 100/LC/ADT/J/M/MP BB13096 BB13096
YZ 250 D/E/F/G/H/J 77-82 6206 6206 Speedfight 100/N/NGP/P BB13096 BB13096
YZ 250 K/L/N/SIT 83-87 6206 6206 Speedfight 100/LCD/LCDP/LCT BB13096 BB13096
YZ 250 U/V/A/B/D/E 88-93 6328 6328 Trekker 100/J/P BB13096 BB13096

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




SSK100

SSK901

- SSY500

MoDEL YEAR REF No.
HONDA

CB50J 81 SSH200
MB 50 80-82 SSH200
MBX 50 SD / SF 83-85 SSH200
MR-50/K1 74-74  SSH200
MT50 80-93 SSH200 o
MTX50 83-84 SSH200
SS50 ZK/ZB 77-80  SSH200 SEE200
CR60R 83 SSH200
CL70/K1-K 69-73 SSH200
CT70 76-82  SSH200
CT70H/HKA1 70-73  SSH200
CT70/K1-K4 69-76 SSH200
SL70/K1 71-73  SSH200
XL70 74-76  SSH200
XL75 77-79  SSH200
XR75 73-78  SSH200
MB80 SSH200
MBX80RFD/RSD 83 SSH200
MTX80/C 83-84 SSH200
XL80S 80-85 SSH200
XR80 79-84  SSH200
ATC90 75-85 SSH200
CS90 SSH200
CT90 68-79  SSH200
SL90 69 SSH200 SSH901
ST90K1-K4 SSH200
CB100N 77-80  SSH200
H100 A/S 82-92 SSH200
SL100/K1-K3 70-73  SSH200
XL100/K1 74-75  SSH200
ATC110 79-85 SSH200
CT110 80-84 SSH200
XL100/S 76-85 SSH200
ATC125M 84-87 SSH200
CA125 REBEL 96-99 SSH200
CB125K1-6/J/S 72-79  SSH200 Se1904
CB125 TA/TB 78-79  SSH200
CB125RS 83 SSH200
CB125TDC/E/J 83-80 SSH200
CD125 82 SSH200
CG125 SSH200
CG125 JAP/BRAZIL/BR-T 85-96 SSH200
CM125 82 SSH200
CR125M/M1 74-75  SSH200 SSHI0S
CR125M 76-78  SSH200
CR125R 82-80 SSH902
CT125 77  SSH200
MBX125 SSH200
MT125 74-76  SSH200
MT125R 77-78  SSH200
MTX125RWD/E/F/H/L 83-94  SSH200
NS125F/R 86-93 SSH200
NSR125RK/L/M/N 90-94 SSH200
SL125 76-80 SSH200
TL125/K1/K2/S 73-76  SSH200
XL125K/K3 78-79  SSH200 SSH903R
XL125SZ/SA/SB 79-82  SSH200
XL125RC/RF/RH 83-86 SSH902
ATC185/S 80-81  SSH200
CD185T 78  SSH200
CM185T 78-79  SSH200
XL185SZ/SA/SB 80-82 SSH200
XL185SH/SJ/SK SSH200
ZR185 79  SSH200
CD200TA/B 79  SSH200
CM200TA/B 80-81 SSH200
MTX200RWD/F 83-85 N/A
XL200R 83-84 SSH902
XR200 80-83 SSH200
XR200R 81-88  SSH902
XR200RE/RF/RG/RH SSH902
XR200RJ/RK SSH902
ATC250R 83-86 SSH902
CB250K3-K5 73-75  SSH750
CB250G5 75-76  SSH750 SY125

SALES TELEPHONE 0114 2462027

FAX 0114 2454232

BEARINGS




MoDEL YEAR REF No. MoDEL YEAR REF No.

CB250T 78  SSH750 XBR500 85-88  SSH750
CB250NA 79-80  SSH750 XL500R 82  SSH902
CB250NB/NDB/C 81-82  SSH750 XR500R 81-84  SSH902
CB250RSA/RSD 80-82  SSH750 CB550F 75-77  SSH750
CB250N TWO FIFTY M/N 92-95 SSH200 CB550K/K1 74-78  SSH750
CBX250RSE 84  SSH750 CB550SC 83  SSH750
CD250UJ/UK 88-92  SSH200 CBX550F 82-83  SSH750
) CJ250T 77  SSH750 CB600F W HORNET 98 SSHI903R
] CM250C 82-83  SSH200 CBR600FH-FL 87-90 SSH903R
CM250T 81  SSH750 CBR600FM-FW 91-98 SSH903R
E CMX250C/CD 85-87  SSH200 NTV600J-M REVERE 88-91  SSH903
[ CR250R 82-89  SSH902 VT600CJ 88-89 SSH903R
< CR250RE/RF/RG/RH/RJ/RK SSH902 VT600CN-CT 92-96 SSH903R
=) CB250F/F2 SSH750 VT600CD R/S/T 94-96 SSH903R
M MVX250 83-84  SSH750 XL600R 83-86 SSH902R
NSR250R/F 89-93 SSH903R XL600R F-K 85-96 SSH902R
NX250 J/K/L 88-90 SSH902R XL600V 87-90 SSH902R
XL250RC/RE/RF/RG/RH 82-87  SSH902 CB650 79-82  SSH750
XL250R 88-90  SSH902 CB650C 80-81  SSH750
XL250R 92-94  SSH902 CB650SC 82-83  SSH750
XR250SZ/SA/ 79-80  SSH902 CBX650ED/SCD SSH750
XR250RE/RF/RG/RH 81-87  SSH902 CX650C 83  SSH750
XR250RJ/RK/RL/RN/RP/RR 88-94  SSH902 CX650ED SSH750
VT250FD 83  SSH750 CX650T TURBO 83  SSH750
VT250L 90 SSH902R GL650 SILERWING 84  SSH903
VTR250 88  SSH750 NT650 J/K/L 88-90 SSH903R
VTR250 89-91  SSH903 NT650 98-99  SSH903
CB350F/F1 73-74  SSH750 NT650J REVERE SSH903
CB350G 73 SSH750 NTV650 88  SSH903
CB350/K2-K4 69-72  SSH750 NTV650M-T REVERE 92-96  SSH903
CB360T 74  SSH750 NX650J/K DOMINATOR 88-89 SSH902R
CB360T 75-77  SSH750 NX650 90 SSH902R
CJ360T 78  SSH750 NX650L-T 90-99 SSH902R
XL/XR350R 83-85 SSH902 SLR650V 97 SSH902R
XR350RD/RE/RF/RG/RH SSH902 XR650 AFRICAN TWIN 85-96 SSH902R
XR350RJ/RK SSH902 XRV650 J/K 88-89 SSH902R
CB1 400F 89-91 SSH903R CB750SC 84-86  SSH903
CB400A 74-75  SSH750 VF700F 84-85 SSH903R
CB400F/F1/F2 75-79  SSH750 VF700S 84-85 SSH903R
CB400N/NA 78-79  SSH750 VFR700F/F2 SSH903R
CB400NB/NC 80-81  SSH750 VT700C 84-85 SSH750
CB400TI/TII 78-79  SSH750 CB750A 76-78  SSH750
CB400T 80-81  SSH750 CB750C 80-82  SSH903
CBR400R 87  SSH903 CB750F1/F2 75-78  SSH750
CBR400RR 88-89 SSH903R CB750F2N-T RETRO 92-99 SSH903R
CBX400F SSH750 CB750FA/FB/FC/F2C 79-84  SSH903
CM400A/C/E/T 79-81  SSH750 CB750K1-K7 69-78  SSH750
CB400 SSH750 CB750K Z 79  SSH901
NS400RF/RG 85-86 SSH903R CB750KZ DOHC SSH903
VFR400ZG/RG 90-92 SSH903R CB750L 79  SSH902
VFR400 NC21 IMPORT SSH903 CB750SC 82-83 SSH903R
VFR400R NC30 SSK907 CBX750FE/F2F 84-86 SSH903R
CB450K1/K7 68-74  SSH750 CBX750FE BOLDOR 85 SSH903R
CB450T 82  SSH750 VF750CC/CD/CE SSH903
CM450A/C/E 82-83  SSH750 VF750C 82-83  SSH903
CMX450C 86-87  SSH903 VF750C 93-98 SSH903R
CR450R 81  SSH902 VF750CP 93  SSH903
CR480R 82-83  SSH902 VF750FD/FE 83-84 SSH903R
CB500/K1/K2 71-73  SSH750 VF750SC/SD/CC SSH903
CB500T 75-76  SSH750 VF750S 82-83  SSH903
CB500R-V TWIN 94-99 SSH903R VF750S 84-85 SSH903R
CB500S 98-99 SSH903R VFR750C 83  SSH750
CR500R 84-89  SSH902 VFR750F/F2 82-87 SSH903R
CX500Z/A/B/C 78-83  SSH750 VFR750R RC30 88-92 SSH903R
CX500EC EURO SPORT 82  SSH750 VFR750FG-FV 86-97 SSH903R
CX500T TURBO 83  SSH903 VT750C VIWIX 97-99 SSH903R
FT500 ASCOT 82-83  SSH750 VT750C2 V/W/X 97-99 SSH903R
CB500F/F2 SSH750 XLV750RF 85 SSH902R
GL500 SILVERWING 82  SSH750 XR750 AFRICAN TWIN SSH902R
VF500C 84-85 SSH903R XRV750L-T A/TWIN 90-99 SSH902R
VF500F 84-86 SSH903R PC800C 89-98  SSH903
VF500FE/FIIE/FF SSH903R VT800 88-89 SSH903R
VT500 ASCOT 83-84  SSH750 VFR800FI 98-99 SSH903R
VT500C 85-86 SSH903R CB900F Z 79  SSH901
VT500ED SSH750 CB900F FA/FB/F2B 80-82  SSH903
VT500C/FT 83-84  SSH750 CB900FC/FD/F2C/F2D 83-84  SSH903

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




MoDEL YEAR REF No. MoDEL YEAR REF No.

CBR900RRN-RRT 92-98 SSH903R Z250C1-C2 81-83  SSK200
CB1000C 83  SSH903 Z250G1-G2 80-84  SSK200
CB1000F 95 SSH903R S1A/B/C-250 73-75  SSK100
CBR1000FH-FT 87-96 SSH903R ZZR250 EZ250H1-2 90-93  SSK400
CBX1000 79  SSH901 EX350B1 83  SSK100
CBX1000B/C 81-82  SSH903 GPZ305A1/B1-10 83-96 SSK100
GL1000K1 77-78  SSH750 KZ350A1/A2 81-82  SSK100
GL1000K2/K3/KZ 78-80  SSH903 KZ350B 82  SSK100 )
GL1000L 76  SSH750 KZ350B2/B3 87-88  SSK100 S
VF1000FE/FF 84-85 SSH903R S$7350 73 SSK100
VF1000F2F BOL DOR 85 SSH903R KDK420B1 81  SSH901 E
VF1000RE/RF/RG 85-86 SSH903R KH400 76-81  SSK100 [
VTR1000 FIRESTORM 97-99 SSH903R KX420A1/A2 80-81  SSH901 <
XL1000 X 99 SSH903R Z400A1-2 77-78  SSK100 =
CB1100RB/RC 82-84  SSH903 Z400B1-2 78-80 SSK100
CBR1100XX BLACKBIRD 96-99 SSH903R Z400D/D2/D3 74-77  SSK100 M
GL1100C/1C/DC/AC SSH903 Z400G1 79  SSK100
GL1100D2D/AD/1A/DA SSH903 Z400H1 79  SSK100
GL1100RB/RC/D/1D/DD SSH903 Z400J1-3 80-83  SSK400
ST1100 90-99 SSH903R ZRA400A1/B1  Z400F 83-84  SSK902
ST1100A 92-99 SSH903R ZX400C2 85  SSK902
VF1100C 83-86 SSH903R ZXR400L1-5/B 91-99  SSK907
VF1100S 84-85 SSH903R KZ400S/S2/S3 75-77  SSK100
VT1100C 85-98 SSH903R S3/A-400 74-75  SSK100
VT1100ClI 95-99 SSH903R EN450A1-A7 85-91  SSK902
VT1100Cll 98-99 SSH903R EN450LTD 86-89  SSK902
GL1200 84-88  SSH903 EN450N SSK902
GL1500 88-90  SSH903 KDX450A1 82  SSH901
GL1500 97-99  SSH903 Z440A2/C1-2/D4-6 79-84  SSK100
GL1500A 91-96 SSH903 Z440H1-2 82-83  SSK100
GL1500SE 91-99  SSH903 EN500 90-96  SSK902
EN500 96-99  SSK902
GPZ500SA1-6 87-93  SSK400
GPZ500SD1-3 94-99  SSK400
EX500A1-A7 87-93  SSK400
EX500D1-D5 94-98  SSK400
EX500E1-E6 94-99  SSK400
KAWASAKI ER500A1-A3 97-99  SSK400
BN125A1/A2 98-99  SSK400 ER500E1-E3 97-99  SSK400
KE125A4-A12 76-88  SSK200 H1C/D/E/F-500 72-75  SSK100
KH125A1-A4 77-80  SSK200 KH500A8 76  SSK100
KMX125A1-A7 86-95 SSK200 KLE500A1-5 91-99  SSK902
KMX125B1-B8 86-96  SSK200 KX500A1/A2 83-86  SSH901
KX125B1/B2/C1 82-84  SSH901 KX500B1/B2 85-86  SSH901
KX125D1/E1/E2 85-87  SSH901 KX550C1/D1 87-88  SSH901
KX125F1/G1 88-91  SSH901 KX500E1/E3 89-91  SSH901
KX125H1/H2 90-91  SSH901 Z500B1-2 79-80  SSK400
KE175B1-B4 76-78  SSK200 GPZ550D1 81  SSK400
KE175D1-D5 79-83  SSK200 GPZ550H1-2 82-83  SSK902
KDX200A1-A3 83-85  SSH901 GPZ550A1-4 84-87  SSK902
KDX200C1-C3 86-88  SSH901 GT550G1-8 83-94  SSK902
KDX200E1/E3 89-91  SSH901 Z550A1 80  SSK400
KMX200 88-92  SSK200 Z550C1/2 LTD 80-84  SSK400
Z200A1-A6 77-83  SSK200 Z550G6 SSK902
EL250B2/B3 88-890  SSK400 Z550M1-LTD 83  SSK902
EL250D4-5 93-96  SSK400 ZR550A1-2 Z550F 83-84  SSK902
EL250E1-E2 91-93  SSK400 ZR550B1/B2 90-91  SSK902
ER250250B1-3 83-88 SSK100 ZR550B2-6 ZEPHYR 91-97  SSK902
EX250E/E2 86-87  SSK400 ZX550A1/A2 84-85  SSK902
EX250F2-F11 88-97  SSK400 ZL/EL600 95-97  SSH901
GPX250 88-96  SSK400 GPX600R C1-7 88-96  SSK902
KH250A5 76  SSK100 GPZ600R A1-5 85-89  SSK902
KH250B1-5 77-82  SSK100 KL600A1/B1/B2 84-86  SSK902
KL250D2-D8 85-91  SSK902 KLR600 84-88  SSK902
KLR250D2-11 84-99  SSK902 ZX6-R F1-3 95-97  SSK902
KLX250 93-97  SSK902 ZX6-R G1-G2 98-99  SSK908
KR1/KR1S 89-93  SSK902 Z7ZR600 D/E 90-99  SSK902
KX250A5-A 79-81  SSH901 KL650A1-A5/B2 87-98  SSK902
KX250B1/C1 82-84  SSH901 KLR650/B2 TENGA 87-96  SSK902
KX250D1/D2/E1 85-87  SSH901 KLX650 C1-2 93-96 N/A
KX250F1/G1 88-91  SSH901 Z650B1-3 76  SSK400
KX250H1/H2 90-91  SSH901 2650C1-3 77  SSK400
KXT250A1/A2 84-85  SSH901 Z650D2-3/F1-4 78-83  SSK400
KXT250B1/B2 86-87  SSH901 LKZ650E1/F1 80  SSK400
KZ250A SSK100 KZ650H1-H3 81-83  SSK400
Z250A/B 79-83  SSK100 KZ650T SSK400

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




MoDEL YEAR REF No. MoDEL YEAR REF No.

KZ700A1 84  SSK902 Z1100L1 83  SSK902
ZN700A1/A2 84-85  SSK902 Z1100J1/J2 SSK902
ZX600C SSK902 211002 SSK902
ZX600A1-A3/B1 85-87  SSK902 Z110R1 84  SSK902
ZX600C1-C4 88-91  SSK902 ZN1100B1/B2 84-85  SSK902
ZX600D1/D2 90-91  SSK902 ZR1100 ZEPHYR 92-98  SSK902
E650A1 99  SSK902 ZZR1100C/D
) GP750R SSK902 ZX1100A1/A2 83-84  SSK902
] GPZ750R SSK902 ZX1100D1-D7 93-99  SSK907
GPZ750R1 SSK902 ZG1200A1 86  SSH901
E H2/A/B/C-750 72-75  SSK100 2G1200B1-B12 87-98  SSH901
[ Z750B1-4 76-79  SSK400 Z1300 79-86  SSK901
< Z750E1-3 80-82  SSK400 Z1300B1 82  SSK901
=) Z750F1 83  SSK902 ZN1300A1-A6 83-88  SSK901
M Z750G1 SSK400 VN-15SE SSK902
Z750H1-2 LTD 80-81  SSK400 VN1500A1-A5 87-91  SSK902
Z750L1-4 81-84  SSK400 VN1500B1-B5 87-91  SSK902
GPX750R ZX750F 87-89  SSK902 VN1500 93-99  SSK902
GT750P1-10 82-98  SSK902
GPZ750RT TWIN SHOCK 82  SSK902
GPZ750A 7ZX 83-87  SSK902
GPZ750R G2-3 W/COOL 85-86  SSK902
KZ750L3 83  SSK902
KZ750N1-N2 82-83  SSK902
KZ750R1 82  SSK902 SUZUKI
VN750A2-5 86-89  SSK902 A50 71-78  S$SS100
Z750Y1 82  SSK400 AP50 75-78  8S8100
ZR750 ZEPHYR 92-98  SSK902 GT50KB 77-78  S$S8100
ZR750F 99  SSK902 GT50KEN 79-80 SSS100
ZX750A1-A2 83-84  SSK902 ORS50ET 80 SSS100
ZX750E1-ES 84-85  SSK902 RB50H 87  8S8100
ZX750F1-F3 87-89  SSK902 RM50 78-82  $SS100
ZX750G2 85  SSK902 TSS50ER 80-83 $SS100
ZXR750H1-2 88-89  SSK902 ZR50KEN/KEX X1 79-83  8§SS8100
ZXR750J1-J2 91-92  SSK907 ZR50LKX 82-84  S$SS100
ZXR750K1-K2 91-92  SSK907 ZR50SKX/SKE/SKH 83-90  8SS100
ZXR750L1-2 93-95 SSK907 DS80N 92-93  §SS100
ZRXR750M1-2 93-95  SSK907 DS80T-W 96-98  S$SS100
ZXR750N1-N2 96-97  SSK907 RM80 77-82  8SS8100
ZXR750P1-P4 96-99  SSK907 RM80X 83-85 §SS100
VNB8O00A1-2 / B1 - CLASSIC 95-99  SSK902 TS90 71-73  S$SS100
GPZ900R A1-8 84-94  SSK902 A100 K-B 73-77  S$SS8100
Z900A4 76  SSK400 RM100N/T/X 79-81  SSY125
Z900B1 76  SSK400 GP100 78-84  $SS100
ZL900A1/A2 85-86  SSK902 GP100U 79-93  8§S8100
Z1-A/B-900 73-75  SSK400 TS100 K-C 73-78  $S8100
Z1R SERIES 78-80  SSK400 TS100ER 76-89  $SS100
ZX900A1-A8 84-91  SSK902 B120D 71-77  8S8100
ZX9R SSK907R DR125S Z/D/E 82-86  SSS100
ZX9-R B1-4 94-97  SSK907 GN125R 94-96  SSS100
ZX9-R C1-C2 98-99  SSK907 GN125E V 97 8SS8100
GTR1000A1-12 86-98  SSK902 GN125(U/E)X/IW 98-99  §SS100
Z1000A1-4 77-80  SSK400 GP125C/N/X/D 78-89  $SS100
Z1000B1-4 77-80  SSK400 GS125ES Z-M 82-91 8SS100
Z1000D1 78  SSK400 GS125ES R 94  8SS100
Z1000D3 80 SSK400 GS125(S/U/ES/SL)X 98 S$SS100
Z1000E1-2 79-80  SSK901 GT125L-C 73-78  8SS8100
Z1000G1 80 SSK400 GZ125(U) WIX 98-99  SSH901
Z1000J1-3 81-83  SSK902 RG125UCG/UH/UJ 85-92  8SS100
Z1000K LTD 81-83  SSK902 RGV125 92-96  SSH901
Z1000M1-3 81-82  SSK902 TS125 STINGER 70-73  SSS100
Z1000P1-10 82-91  SSK902 TS125 K-C 73-78  $SS8100
Z1000R 83  SSK902 TS125ER T/X 80-81 SSS100
ZG1000A1-A14 86-99  SSK902 TS125UF/G/J 85-90  SSH901
ZL1000A1 87  SSK902 TS125RK-RR 90-96  SSH901
ZX1000A1/A2 86-87  SSK902 TU125XT X 99 8SS100
ZX1000B1-B3 88-90  SSK902 RM125A/B/C 75-78  $S8250
ZX10 B1-3 88-90  SSK902 RM125N/T 79-80  SSY125
Z1000K1 LTD 82  SSK902 PE175C 78-79  8§S8250
GPZ1100A1 ZX1100 83  SSK902 GT185 K-C 73-78  S$SS100
GPZ1100A2-3 84-85  SSK902 TS185 K-C 73-78  $SS8100
GPZ1100B1-2 82-83  SSK902 TS185ER N-X 79-81  8§SS8100
GPZ1100 ZX1100E1-2 95-96 N/A DR200D J-L 88-90 SSS100
Z1100A1-3 81-83  SSK902 DR200SE 96-98  SSH901
Z1100B1-3 81-82  SSK902 GT200EN/EX 79-82  8§SS8100
Z1100D1-2 82-83  SSK902 SB200EN/EX 79-83  $SS100

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




MoDEL YEAR REF No. MoDEL YEAR REF No.
AN250 X 99 SSH901 GSX600FJ-W 88-98 SSH901
DR250 90-91  SSH901 GXSR600W N/P 92-93 SSH901
DR250S L-R 90-94 SSH901 GSXR600 V/W/X 97-99 SSS903
DR250SE S 95 SSH901 RFG600RP/R 93-96 SSH901
GN250Z/D/IF 82-85 SSH901 VS600GL 96 SSH901
GN250F/JIM/IR 87-94 SSS250 DR650RSE M/N/P 91-93 SSH901
GN250T 96 SSH901 DR650SET 96 SSH901
GS250FW 85 SSS250 GR650D/XD 83  SSH901
GSX250ET/X 79-81 S$S8S250 GS650EX/EZ 81-82 SSH901
GSX250EZ 82 SSS250 GS650GX/GZ/GD 81-83  SSH901
GSX250F M-R 91-94  SSH901 GS650GL 81-83  SSH901
GSX250T/ET 80 S$S8S250 GS650MD 83 SSH901
GT250K/L/M/A/BIC 73-77 SSS250 XN85 650 TURBO 83 SSH901
GT250E N-Z X7 78-83 SSS100 LS650FG/PK/M/P/R 87-96  SSH901
GZ250 99 SSH901 LS650P T-X 96-99 SSH901
PE250C/N 78-79  SSS250 SV650(U/S/SU) 99-00 SSH901
PE250T/TX 80-81 SSH901 XF650V FREEWIND 97-99 SSH901
RG250 MK1/2/3 83-88 SSH901 DR700SJ-K 88-89 SSH901
RGV250K-R 89-94 SSH901 GS700EF/ESF 85 SSH901
RM250A/B/C/C2 76-78  SSS250 GV-700GLF 85 SSH901
RM250N/T 79-80 SSY125 VS700 86-87 SSH901
RS250T/X 80-81  SSH901 DR750S/SU/JIK SSH901
TM250K/L/M 73-75  S§SS250 GT750 73-77  SSS250
TS250L/M/A/B/C 70-79 S$S8S250 GS750B/C/EC/IN 77-79 S$S8S250
TS250ERN/T/X 79-82 SSS250 GS750EN/LN/LT 79-80 SSS250
TS250XE/G/H/JIK 85-89 SSS902 GS750ET/EX/EZ 80-85 SSH901
TU250 W/X 98-99 SSH901 GS750ED/ESD 83 SSH901
DR350SL/M/N/P/R 91-94 SSH901 GS750LT/LX 80-81  SSH901
GS300LF 84 SSS250 GS750ESD 83  SSH901
GS300LZ/LD 83 SSS250 GS750TZ/TD 82-83 SSH901
DR350 L-W 90-98 SSH901 GSX750ET/EX 80-81  SSH901
DR350S L-R 90-94 SSH901 GSX750ESD/EFE 82-83 SSH901
DR350SE R-W 94-98 SSH901 GSX750SE KATANA 85 SSH901
T350 70-73  SSS250 GSXR750F/G/H/JIKILIM 85-91  SSH901
SP370 77-80 SSS250 GSXR750WN/WP/WR/WS 92-95 SSH901
GT380K-B 73-77 SSS250 GSXR750WT-W 96-98 SSS670
RM370A/B/C 76-77 SSS250 GSXR750 T-X 96-99 SSS903
AN400X 99 SSH901 GSX750FK/V 89-97 SSH901
DR400ST 80-82 SSH901 GSX750FK/V 98-99 SSH901
GN400T/TX/TZ 80-82 SSH901 VS750G 88-91  SSH901
GS400B/C/EC 77-78 SSS250 DR800SL-M 90-91 SSH901
GS400M 91 SSH901 VS800GL N-R 92-99 SSH901
GS425N/EN 79 SSS250 VX800L-T 90-96 SSH901
GSF400M-P BANDIT 91-94 SSH901 VZ800V MARAUDER 97-99 SSH901
GSX400EE/SE/EF/SF 85 SSH901 GS850G/GL 79-83  SSH901
GSX400ET/EX/EZ/TX 81 ON  SSH901 RF900RR 94-99 SSH901
GSX400FX/Z/D 81-84 SSH901 GS1000C/EC/N 78-79 SSH901
GSXR400F SSH901 GS1000ET 80 SSH901
RM400C 78 SSS250 GS1000/GL 80-81  SSH901
RM400N/T 79-80 SSY125 GS1000LN/SN/ST 79-80 SSH901
SP400T 80 SSS250 GS1000SZ KATANA 82-83  SSH901
TM/TS400 73-77  SSS250 TL1000R W/X 98-99 SSS903
GS425E 78-80 S$S8S250 TL1000S V/X 97-99 SSS903
GS450E 80-83 SSH901 GS1100SG SHAFT 82 SSH901
GS450EG/J 87-88  SSH901 GSX1100ET/EX/EZ 80-82 SSH901
GS450G 82-85 SSH901 GSX110ESD/EFE 83-86 SSH901
GS450L 80-88 SSH901 GSX1100SZ/SD KATANA 82-84 SSH901
GS450TX/TZ 81-82  SSH901 GSX1100FJ-T 88-96 SSH901
GS450T/XZ/TXD 82-83 SSH901 GSXR1100G/H/J/K/L/N 86-92 SSH901
DR/PE500T/X 80-81  SSH901 GSXR1100WP/WT/WV 93-97 SSH901
DR500X/Z/D 81-83  SSH901 GSX1100GM-N 91-94  SSH901
GS500EK-T 89-99 SSH901 GS1150E 83-86 SSH901
GT500A/B 76-77 SSS250 GSF1200 BANDIT 96-99 SSH901
RG500 GAMMA 85-87 SSH901 GSX1200 X 99 SSH901
SP500X/2 81-82 SSH901 GV1200G 85-86 SSH901
GS550B/C/EC 77-78  SSS250 GSXR1300R (U1,U2) 99 SSS903R
GS550DB/EC/EN 77-79  SSS250 GV1400G 86-89 SSH901
GS550ET/X/Z 80-83 SSH901 VS1400 INTRUDER 87-99 SSH901
GS550LT/X CUSTOM 81-83  SSH901 VL1500 W/X 98-99 SSH901
GS550LF/LG 85-86 SSH901

GS550M/Z/X KATANA 81-83 SSH901

GS550TX 81 SSH901

GSX550ESD/EFE 84-87 SSH901

GT550J-B 72-77 S$S8S250

DR600SF/RG 85-86 SSH901

GSF600F BANDIT 95-99 SSH901

SALES TELEPHONE 0114 2462027

FAX 0114 2454232

BEARINGS




BEARINGS

MoDEL YEAR REF No. MoDEL YEAR REF No.
YAMAHA YTM225DRN/DRS 85-86 SSY125
DT50B SSY080 YTM225DXK 83 SSY080
DT50MX 78-94 SSY080 YTMDXL/DXN 84-85 SSY125
FS1E / DX 74-79 SSY125 DT1/B/S/C/E-250 68-71  SSY080
FS1 /DX 79-90 SSY125 DT1CMX/DT2-250 71-72  SSY080
FS1SE 81-82 SSY125 DT2/3/DT-250A-F 72-79  SSY080
RD50 / 50MX 78-87 SSY080 DT250MX 75-81 SSY080
TY50M 79-80 SSY080 IT250D/E/F 77-79  SSH901
RD-60/A/B 73-75 SSY080 UT250G/H/J/IK 80-83  SSH901
RX-50K/L/M 83-84 SSY080 MX-250A/B 73-75 SSY080
YSR-50T-B 87-91  SSY080 RD250A/B/C/DX/XE/XF 73-79 SSY125
DT80MX 81-83 SSY080 RD250LC 80-84 SSY125
GT80B SSY080 RD250YPVS 83-84 SSY125
RD80LC 82 SSY080 SR250SE 80-82 SSY125
RD80MX 82 SSY080 SR250 93-94 SSY125
YZ80A-F 74-79  SSY080 SRX250N 85 SSY125
AG100B SSY080 SRX250T/TC 87 SSY125
DT100 74-80 SSY080 TD3/TR3-250 RACE 72 SSY125
L5T/L5TA-100 69-70 SSY125 TT/XT-250G/H/J 80-82 SSY080
MX100F/H/J/K 79-83 SSY080 TY250A/C/D 74-77  SSY080
RS100 / DX 75-80 SSY080 TZ250 RACE 73  SSY125
RXS100 83-96 SSY080 TZ250C/D/E 76-78 SSY125
YB100 75-92 SSY125 TZ250F/G/H/J 79-82  SSH901
YZ100C/D/E/F 76-79 SSY080 TZR250 87-92 SSY125
AT1B/AT1C-125 70-71  SSY080 TZR250R SSH901
AT1E-125 69 SSY080 XS250 SSY125
AT2/AT3-125 72-73 SSY080 XT250W 89 SSY080
AT2M/ATMX-125 72-73 SSY080 XV250U-W 88-89 SSY125
AT1MX-125 71 SSY080 XT250K/KC 83 SSY080
DT125A/H 74-81 SSY080 XT250L/LC 84 SSH901
DT125LC MK1 SSY080 XV250S VIRAGO 96-99 SSY125
DT125MX 84 SSY080 YP250 96-98 SSY080
IT125G/H 80-81 SSY080 YP250D 98-99 SSY080
MX-125A/B/C 74-76 SSY080 YP250A/D 99 SSY080
RD125B/C 75-76 SSY125 YZ250A/B/C 74-76 SSY080
RD125DX 75-81 SSY125 YZ250D-T 77-87 SSH901
RD125LC MK1/2/3 82-87 SSY125 RD350 75-79 SSY125
RS125 / DX 75-81 SSY080 RD350A/B 73-75 SSY125
SR125 82-86 SSY080 RD350LC 80-83 SSY125
TDR125 97-99 SSY080 RB350 YPVS/N/F 83-92 SSY125
TZR125 87-93 SSY125 R5/B/C-350 70-72 SSY125
TZR125R 95-97 SSH901 RZ350L/N/NC 84-85 SSY125
TA-125 RACE SSY125 TT-350S/T 86-87 SSH901
TD2/TD2B-125 70-71 SSY125 TZ-350C/D/E 74-78 SSY125
TR2/TR2B-125 70-71  SSY125 XT350 85-93 SSH901
TZ-125G RACE 80 SSY125 DT/YZ/360A/B 74-75 SSY080
YB125E/F SSY125 MX360/A 73-74 SSY080
XT125J 82 SSY080 MZ360A 74  SSY080
XT125J/K/IKC 82-83 SSY080 RT1/RT1B-360 70-71  SSY080
XV125 97-99 SSY125 RT1M/RT1MX-360 70-71 SSY080
YP125R 99 SSY080 RT2MX-360 72 SSY080
YT125N 85 SSY080 RTZ/RT3-360 72-73  SSY080
YZ125A/B/C/X 74-76  SSY080 XS360C/D/2D 76-77 SSY125
YZ125D-S 77-76 SSH901 YZ360A/B 74-75 SSY080
AG175B SSY080 DT400B-E 75-78  SSY080
CT1-175/B/C 69-71  SSY080 DT400MX 78-80 SSY080
CT2/CT3-175 72-73 SSY080 FZ400R SSY500
DT175A-H 74-81  SSY080 FZR400 88-90 SSH901
DT175MX 78-83 SSY080 FZR400RR 92-94 SSH901
IT175D-K 77-83  SSH901 FZR400RRSP 91-92 SSH901
MX175A/B 74-75 SSY080 IT400C 76 SSY080
MX175G/H/J 79-81 SSY080 IT400D/E/F 77-79 SSH901
SR185H/J 81-82 SSY080 IT425G 80 SSH901
TY175B/C 75-76 SSY080 MX/YZ400B SSY080
YT175J/K 82-83 SSY080 RD400A/B/C/D 76-79 SSY125
YZ175C 76 SYS080 SRX400 SSY500
AG200 SSY080 XJ400 80-85 SSY125
BW200N/S 85-86 SSY080 XS400D/E/F/F2E/F 77-79 SSY125
BW200ES/ET/EU 86-88 SSY080 XS400G/H/JIK 80-83 SSY125
IT200L/N/S 84-86 SSH901 XS400RJ/RK 82-83 SSY125
RD200 / DX 73-78 SSY125 XS400SG/SH/SJ 80-82 SSY125
RS200 79-80 SSY125 YZ400D/E/F 77-90 SSH901
TW200 87-91  SSY080 IT465H/J 81-82 SSH901
XT200J/K/IKC 82-83 SSY080 YZ465G/H 80-81 SSH901
YTM200K/RK 83 SSY080 IT490K/L 83-84 SSH901
YTM200N/ERN 84 SSY125 YZ490J/A 82-90 SSH901

SALES TELEPHONE 0114 2462027
FAX 0114 2454232




MoDEL YEAR REF No. MoDEL YEAR REF No.
RD500LC 84-86  SSH901 XS1100 ALL 78-81  SSH901
SC500/A 73-74  SSY080 XV1100 VIRAGO 86-96 SSH901
SR500E/F/G/H 78-82 SSY080 XV1100 97 SSH901
SX500B/C/D/E 75-78  SSY500 XVS1100 99 SSH901
TT/XT500C-H 76-81  SSY080 FJ1200 86-94 SSH901
TX500/A 73-74 SSY500 VMX12 V-MAX 91-99 SSH901
XS500 75-81  SSY500 XJR1200 95-98 SSH901
XT500 76-80 SSY080 XVZ-12 VENTURE 83-85 SSH901
XV500K 83 SSY125 XJR1300 99 SSH901
XV535 / SE VIRAGO 88-99 SSY125 XJR1300SP 99 SSH901
XK550H/J/K 81-83 SSY125 XVZ-13 VENTURE 86-91 SSH901
XJ550RH/RJ/RK 81-83 SSY125 XVZ-13D S-E 86-94 SSH901
XS550RK 82-83 SSY500 XVZ1300A ROYAL STAR 96-98 SSH901
XT550J/K 82-83 SSH901 XV1600A 99 SSH901
XV535T/TC/U/A 87-90 SSY125

XZ550RJ/RK 82-83 SSY500

XZ550RK/RJ 82-83 SSY500

FJ600L/LC/N/NC 84-85 SSY125

FZ600 86-88 SSY500

FZR600 89-93 SSH901

FZR600R 94-98 SSH901 BMW

FZS600 98-99 SSH901 ALL MODELS 59-69 SSWO055
SRX600S/SC 86 SSY500 ALL MODELS 69- SSW901
SRX600T 86-87 SSY500

TT600L/N/S/T/U 83-88 SSH901

XJ600 84-92 SSY125

XJ600 DIVERSION 91-99  SSH901

XJ600N 95-99 SSH901

X600S 92-99 SSH901

XT600 / TENERE 84-94 SSH901 TRIUMPH

XT600E 90-99 SSH901 DAYTONA 91-93  SSH901
YX600 86-90 SSY125 SPEED TRIPLE 900 94 ON SSH901
YZF600R THUNDERCAT 97-99 SSS903R SPRINT 900 93-95 SSH901
YZF - R6 99 SSS903R SUPER 3 94 ON  SSH901
TX650/A 73-74 SSY500 TIGER 93-98 SSH901
XJ650G/H/IJ/IK 80-83 SSY500 THUNDERBIRD 95 ON  SSH901
XJ600LH 81 SSY500 TRIDENT 91-93  SSH901
ZJ650LJ/LK 82-83 SSY500 TROPHY 91-93 SSH901
XJ650/XJ650T TURBO 80-84 SSY500

XS650B-H/2F 78-81  SSY500

XS650SE-SH 78-81 SSY500

XS650SJ/SK 82-83 SSY500

XS1/1B/XS2-650 70-72  SSY500

XVS650 97-99 SSH901

XTZ660 TENERE 91-96  SSH901

FZ700T/TC 87 SSH901

FZX700S/T/TC 86-87 SSH901

XJ700N/NC/S/SC 85-86 SSH901

XJ700XN/XS/XSC 85-86 SSH901

XV700 VIRAGO 84-87 SSH901

FZ750 85-92 SSH901

FZR750R 90 SSH901

FZR750RT/RU 87-88 SSH901

FZR750 OWO01 89-92 SSH901

TX750/A 73-74  SSY500

XJ750J/KIMK 82-83 SSY500

XJ750RH/RJ/RK 81-83 SSY500

XTZ750 89-94 SSH901

XS750 ALL 77-79 SSH901

XV750H/J/KIMK 81-83 SSY500

XV750 VIRAGO 88-96 SSH901

YZF750R 93-97 SSH901

TDM850 91-99  SSH901

TRX850 96-99 SSH901

XS850 ALL 80-81 SSH901

XJ900 83-94 SSH901

XJ900S DIVERSION 95-99 SSH901

XV920J/K/IMK 82-83 SSY500

XV920RH/RJ 81-82 SSY500

FZR1000 GEN/EXUP 87-95 SSH901

XV1000 TR1 81 SSY500

XV1000 VIRAGO 84-85 SSH901

YZF1000R THUNDERACE 96-99 SSH901

YZF - R1 98-99 SSS903R

FJ1100 84-85 SSH901

XJ100J 82 SSH901

SALES TELEPHONE 0114 2462027

FAX 0114 2454232

BEARINGS




	BACK TO INDEX
	NSK BEARINGS
	WHEEL BEARING APPLICATION LIST
	HONDA
	HONDA (OFF ROAD)
	KAWASAKI
	KAWASAKI (OFF ROAD)
	SUZUKI
	SUZUKI (OFF ROAD)
	YAMAHA
	YAMAHA (OFF ROAD)

	LOOSE BALL BEARINGS
	CRANK BEARING APPLICATIONS
	STEERING HEAD BEARING KITS
	HONDA
	KAWASAKI
	SUZUKI
	YAMAHA
	BMW
	TRIUMPH


